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Topic:- Grad_Nutrition and Health

1) Which one of the following nutrient provide more energy?/ Eﬁﬁiﬁ?-w qvs ded ifRIe Sl
WS vl 82

1. One gram carbohydrate/ T& UTH HIaERSC
2. One gram fat/ U UH IdT
3. One gram protein/ T U WieH

4, One gram vitamin A/ Tsh J1H faer™ A

Correct Answer :-

e One gram fat/ Uch UH AT

2) Components of the ICDS scheme is/are:/ ICDS YIS m/% Uch %/?:
1. Supplementary Nutrition/ IR qiyo

2. Immunization/ UfaReli&ur

3. Health Checkup/ g Site

4. All the above/ TR & Tt

Correct Answer :-

o All the above/ SR & gHi

3) According to ICMR-2010, One microgram B-carotene after conversion will be equal to:/ ICMR-

2010 ¥ 3R, TP HISHIUTH B-HIIH FTURY & 16 & RIS gRII
1. 6 pg Retinol/6 ug feAia
2. 8 g Retinol/8 pg XfeATa

3. 10 pg Retinol/10 pg 3feTa
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4. 12 ug Retinol/12 pg feATd

Correct Answer :-

« 8 g Retinol/8 pg IfeTd

4) Pigeon chest is the symptom of which deficiency disease?/ HUIT 98 (fﬁ\‘rF-r QR) f&a AT AT
BT AL §?

1. Rickets/ m

2. Malarialﬂﬁﬁtﬂ

3. Night Blindness/ et
4. Anemia/ Q:ﬁﬁ'fﬂ

Correct Answer :-

« Rickets/ R

5) Rich source of vitamin C are:/ f3ef¥ ¢ &1 9= Hid &-
1. Fresh Fruits/ diSlT thel

2. Cereals/ 31

3. Pulses/ qId

4. Milk/ g4

Correct Answer :-

e Fresh Fruits/ drsiT idl

6) According to ICMR 2010 the amount of Kcal/Kg body weight required by infants (0-6 month)
per day are-/ ICMR 2010 & 3R, Tauid fg3it (0-6 ATE) F forw ufafeT smaxas fFat Farst/
IR YR $ A6 3-

1. 92 keal /92 fal HaRt

2. 100 kcal/100 fara FHart
3. 108 kcal/108 faral Hart
4. 120 kcal/120 @t HaRt

Correct Answer :-

e 92 kcal /92 fareft R

7) Which of the following is needed by bacteria to assist its growth and multiplication?/ GﬂﬂTUJ @t
gfS 3R IgTuH # Weraal ¥ e 39 A forae) smazasdn gl 32

1. Water/ oid

2. Food/ @Tg-ucr
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3. Suitable temperature/ 3Ugdd dqH
4. All of the above/ Iudad T+t

Correct Answer :-

o All of the above/ B’CIETHH Tt

8) The most important parts of treatment of diarrhoea are:/ ¥ * IR & Haife 'Flsﬁ'l'{uf HIT %
1. To prevent dehydration from occurring, if possible/ afe Td 81 fAcielin=ur 81 &t AHU™ HAT

2. To treat dehydration quickly if it does occur/ e fAcfelienur 81 Se at ST deft & ITAR HRAT

3. To feed the child/ S/= &1 UT HRAT

4. All of the above/ Judad Wit

Correct Answer :-

« All of the above/ Iudad Faft

9) Disease which is caused by protein-energy malnutrition is:/ MET-Suit @Tﬁ'EFUT & SR N arel
T B-

1. Tuberculosis/ &R T (CISRPANRT)
2. Kwashiorkor/ 1R IBHR

3. Fever/ §GR
4, Malaria/ HaRaT

Correct Answer :-

o Kwashiorkor/ @R IHR

10) Oral rehydration salts (ORS) solution therapy is used for the treatment of:/ 3Ra ﬁ?‘ﬂ%‘?ﬁ
Wieed (ORS) e fafde &1 SuahT ¥ SUER ¥ fFar ST 8:

1. Constipation/ ®esl

2. Ulcer/ &R

3. Obesity/ HICTdT

4. Diarrhea/ ¥9g Ul (a%)

Correct Answer :-
« Diarrhea/ Tugtlt (G%d)

11) Dengue Fever is an outbreak prone viral disease, transmitted by:/ @ﬂlw ault | Heq F
HHTET 9ol U FANTUei=y 9 §, U8 EIRT T gier 81

1. Aedes mosquitoes/ TSI 3
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2. Plasmodium falciparum/ WSHITSTH ThedTaRy
3. Anopheles culicifacies/ TS HaRIH U
4. An. Fluviatilis/ T, Tifaufeferd

Correct Answer :-

» Aedes mosquitoes/ QS’ ol 3]

12) Polio virus entered in the body through:/ Tifer AU IR A F Areny I wa=r Hal &
1. Mosquito bite/ H=X & Ppled

2. Infected food and water/ Thfird HIoH 3R S

3. Cough/ @

4. Dog bite/ erf & Pled

Correct Answer :-

« Infected food and water/ TshTad HIGH 3R &

13) Which of the following is not a problem of pregnancy?/ 398 ¥ S THITRIT $1 JHT 8l 32
1. Nausea and vomiting/ ISTRaT 3R Iafed
2. Teeth decay/ ard AT

3. Constipation/ e

4. Oedema/ TSHT (A THA BIF I I Joi-)

Correct Answer :-

o Teeth decay/ ard qsHl

14) Cretinism is a disorder in children born to mother who had a deficiency during adolescence
and pregnancy of-/ $eI-dl (SSardr) Uh faeR & it feiRmawr 3w wufawr # P FH I
HfEa 76 Hrar A o T4 | g 2

1. Calcium / FHirmaH

2. Iron / R4

3. Phosphorous/ BRBRY
4, Todine/ 3MAISH

Correct Answer :-

« Iodine/ 3MAISH

15) Integrated Child Development Services (ICDS) was started on:/ GHf&d a1a fawT Jarai
(3¢S ATgTS STAYHE AfAAW (ICDS)) BT RH DI gIAT UTI
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1. 2nd July 1975/2 1S, 1975

2. 2nd August 1975/2 31T, 1975
3. 2nd September 1975/2 R, 1975

4. 2nd October 1975/2 3HdgsR, 1975

Correct Answer :-

e 2nd October 1975/2 3dgsR, 1975

16) Tuberculosis is an infectious disease caused by the:/ E@?ﬁﬁm TS AHTHS I § o
9 g 8

1. Salmonella bacteria/ JTEHET SHATY]

2. Bacilus Mycobacterium/ SR ARG ISa IRTH
3. E. Coli/ 5. PIAg

4. Virus/ ﬁGlTE{L

Correct Answer :-

« Bacilus Mycobacterium/ SR AR eI

17) is involved for exchange of nutrients, oxygen and waste products between the

mother and fetus during pregnancy./ TYfaRIT & SR ATar SR MRy fQT-‘{[ CACIERNIED T-IET, STRISH
MR erafre werf & fafmg & g ITRerd! g g1

1. Placenta/ THHTeT (@ider)

2. Fallopian Tube/ TreifUd+ fcihT

3. Neural Tube/ dfieT ATel (el o)

4. None of the above/ ITRIGd & ¥ ®18 Tl

Correct Answer :-

« Placenta/ YA (@@?T)

18) According to ICMR 2010 additional calories and protein respectively required for an expectant

mothe%are-/ ICMR 2010 & 3R MHadt afgen & g smawgs sifafvad Fat ik MidT &Y urme
PHI: -

1. 650 Kcal, 15 g/650 el HaRt, 15 I
2. 550 Kcal, 10 g/550 foral e, 10 U™
3. 450 Kcal, 27.2 g /450 fbell @R, 27.2 T

4. 350 Kcal, 27.2 g/350 fbelt pany, 27.2 I

Correct Answer :-

« 350 Kcal, 27.2 g/350 f&at FaRl, 27.2 M
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19) The important minerals within bones are:/ E%Tﬁ # 9Ig 91+ arat e e g
1. Calcium, phosphate and chloride/ HeRH, HiThe 3R FARZS

2. Calcium, phosphate and iron/ SfeRITH, HIThe 3R 3RA

3. Phosphate, magnesium and chloride/ TEhe, THiREH 3R FARES

4. Calcium, phosphate and magnesium/ %%ZFCII[, Biahe 3R ARRmH

Correct Answer :-

« Calcium, phosphate and magnesium/ &R, Bidhe 3R ANR7H

20) The chest in a normally nourished child grows faster than head during the:/ |THIRI U T uifta
¥ P BTt ¥ IR TP RR A e At A gadt 2:

1. First year of life / Siia-T & guyd a9

2. Second and third year of life/ Sfta & fgfia ud qefta adf
3. Adulthood/ dAIHTIRIT

4. None of the above/ ITRIad & ¥ ®Ig el

Correct Answer :-

« Second and third year of life/ Sta & fg<ia Td geftg o

21) Iodine deficiency in mother during pregnancy can lead to:/'lT’l-I'hRIT o grar d S ot E'Tl-ﬁ, Cal
BRI 9 TH &

1. Low Birth Weight/ ST & ¥Hd YR &4 814

2. Anemia/ THIRET

3. PEM
4. Cretinism and psychomotor defects/ SheIHdT (STSAMAT) Td HANTITAS (YRS M) [AHR

Correct Answer :-

« Cretinism and psychomotor defects/ e Hdl (TSaMdT) Td HARTAIAS (D HRR) PR

22) ELISA test is used for the detection of:/ TATSWT (ELISA) UI&UT T SUTRT BT Ul ATH &

fore grar 21
1. Hypertension/ 3=Raddd

2. Diabetes/ AYAE

3. AIDS/ g9
4. Obesity/ HieTdT

Correct Answer :-
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« AIDS/ TSH

23) Disorder involves repeated or chronic ingestion of hon-nutrient substances which may include
plaster, charcoal, clay, ashes etc. is known as:/ dg IR ford AafdT IR-IR 91 &9 Y TF UIvH
T, S WReR, IR, g, I onfe ) W 8, Tl

1. Pica/ UIgI

2. Mica/ 1Y (H1SPT)
3. PEM

4. PIH

Correct Answer :-

e Pica/ UIghT

24) Which of the following is not a monosaccharide?/ $9H ¥ ®I9 91 TF HHIAPISS 8] 82
1. Lactose/ qde IS

2. Glucose/ ’Fﬁﬁ\—ﬂ

3. Galactose/ HEE

4. Fructose/ Thae ol

Correct Answer :-

e Lactose/ NEES]

25) Children in the age group 1-5 years of ICDS receive 2,00,000. I.U. of vitamin A solution orally
every:/ ICDS & 1-5 94 3Mgait & T=i B &9 TR fae1fF A & 91 1 2,00,000 I.U. G §RT &
et 81

1. Three months/ <9 A8

2. Four months/ IR HIg
3. Six months/ &: HIg

4. Nine months/ :ﬁIﬂTs’

Correct Answer :-

e Six months/ ©: HIg

26) Beri-beri is the deficiency disorder associated with which vitamin?/ 93-3% f&¥ faerfq= @
TrafRd AT o1 fapR 82

1. Thiamine/ Yrafe=
2. Niacin/ R
3. Riboflavin/ IZETIfaA
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4. Pantothenic acid/ Te1dfR® tRig

Correct Answer :-

« Thiamine/ Yra@A=

27) In India the suggested weight gain during pregnancy is:/ YRd § mHfaRr & a?ﬂ EEITI%H UR

s &

1. 4-6 kg/4- 6 fobum

2. 5-6 kg/5-6 fobum

3. 11-13 kg/11-13 f&un

4. 15- 25 kg/15- 25 f&n

Correct Answer :-

o 11-13 kg/11-13 f&3n

28) Which among the following cannot be prevented by Antibiotics?/ Eﬁﬁmﬂﬁ AHUH

CEafeed gRT e 1 o Wkt 82
1. Measles/ G

2. Tetanus/ feTa9 $§ I

3. Leprosy/ 8 AT

4. Cholera/ %GIT

Correct Answer :-

e Measles/ @I

29) Influenza is an acute infection of short duration, spreads from person to person by contact
inhalation of:/ S-URIUST SCUTANY BT TP NETT JH U 3, S q TS /B W §RT e g
¥ GR1 TP e A ga¥ aafe o e

1. Bacteria/ SfaTg]
2. Virus/ faumg

3. Fungi/ ®d&
4. Algae/ PG

Correct Answer :-

e Virus/ ﬁﬁqu

30) The refers to the time from fertilization through the development of the early embryo
until implantation is completed in the uterus/ o1 3 o= I Aoy, aRfi® Yot ¥ o a
gid gU, Tufzr A Auur &t ufsar gt 8 91 96 @M 9 9w A )
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1. Embryonic stage/ YUITARIT
2. Germinal stage/ SHH® 3R

3. Fetal stage/ TS 3@zt

4. Infancy stage/ FaIld dRIT

Correct Answer :-

« Germinal stage/ & AR

31) Which one of the following is not a symptom of marasmus:/ Fl'ﬁ'ﬁﬂﬁ:{ WY (GREN ﬁ'lT) Cai
TS &0 181 82

1. Moon face/ 9%-H9

2. Muscle wasting/ Ui e

3. Growth retardation/ gfg diet g1 ST
4. Wrinkled skin/ S[IGR &

Correct Answer :-

« Moon face/ 9%-J&

32) D.P.T vaccine is used for the prevention of:/ D.P.T AR BT ITERT P APUH & ﬁl‘E
o e 8:

1. Polio, Diphtheria and Tetanus/ Tiferal, feweiftar sik feeg

2. Diphtheria, Whooping cough and Tetanus/ %Cfiﬂﬁtﬂ, CAN] @ﬁ, IR feTw
3. Tetanus, Tuberculosis and Polio/ e, STaRGNRI 3R Tferay

4. Diphtheria, Typhoid and Tetanus/ fSwifan, TrEwIsS SR fReTa

Correct Answer :-

« Diphtheria, Whooping cough and Tetanus/ fSwiifar, 1efl wia, 3R feeg

33) Which one of the following pair is wrong?/ gﬂﬁﬁﬁq—m \‘:ﬁsT Tad 82
1. Rabbis- Dog/ T - ol

2. Plague- Rat/ T - gl

3. Tapeworm- Pig/ WIdl ¥ - YR

4. Polio- Monkey/ giferd! - SR

Correct Answer :-

« Polio- Monkey/ Tifer - IR
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An average daily milk production for lactating women is:/ - UT BT I afgars & oiva e T
TS gl &

1. 650 ml/650 et

2. 450 ml/450 forett
3. 350 ml/350 farett

4, 250 ml/250 e

Correct Answer :-

« 650 ml/650

35) A healthy child doubles his birth weight by the age of:/ WX T BT R, @t 3 dh
AP S & THY $ UR BT SNIAT 81 Sl 8

1. Two year/ Ty
2. One and half year/ $¢ a9
3. One year/W?ﬂf

4. Six month/ &: HIg

Correct Answer :-

e Six month/ ¥: HIg

36) Vitamin D prevents:/ faaifA & FAesym Hars:
1. Ricket/ RepcH

2. Osteomalacia/ 31TREGAT (SHTReIHIRET)

3. Osteoporosis/ JRCATRIAT

4. All of the above/ Judad Wit

Correct Answer :-

« All of the above/ Suad et

37) The number of babies dying in the first year of life per 1000 live births is known as:/ ufd 1000
Tollg 0 TR Sia- & UYH a9 | 1R+ aral Rigge 31 @@ «t Hgl T gl

1. Infant Morbidity rate/ JdGITd 20T G
2. Infant Mortality Rate/ Taulld g &
3. Maternal Mortality Rate/ HIJ § &

4. Maternal Morbidity Rate/ HIJ ®UIdl qX

Correct Answer :-

 Infant Mortality Rate/ FaqiTd Hg &)
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38) Which classification identifies type and duration of malnutrition?/ PI-I1 Fffepor ?lfﬂ'ﬂ'UT F
TFR AR afy &} ugar Fear 22

1. Gomez classification/ AT aeifepRuT

2. IAP classification/ IAP dffRur

3. Waterlow classification/ dfexa aiffeRur
4. Welcome classification/ 9@ qiffdRUT

Correct Answer :-

« Waterlow classification/ @iexelt aiffes3or

39) Additional protein requirement during pregnancy is essential for:/ TYfawT & IR raRgH
sifafvaa wid= ¥ fore smazas gan 8:

1. Rapid growth of Fetus/ MRy R &t g ?{@

2. The enlargement of the uterus/ THIYT & 3MHR | q@

3. Formation of amniotic fluid/ 3vd o (TR ® Uegs) & fAaTr
4. All of the above/ G'Cl?iﬁlﬂ bt

Correct Answer :-

o All of the above/ B’Cl?jaﬁ Tt

40) The beneficiaries of the ICDS Scheme is/are:/ ICDS I ib‘r/a? IR %/%':
1. Children in the age group of 0-6 years/0-6 Y @ 3y & T

2. Pregnant women / T+t Afgame

3. Lactating mothers/ IUH ST 351 Higey

4. All of the above/ ITdad Tft

Correct Answer :-

 All of the above/ GCPjTﬁ Tt

41) Energy need during pregnancy increase because of the additional energy required for the:/

TufaRI ¥ R ol B TaRaHdl g W @ Fife ¥ g sifofvea et @Ry A 2
1. Growth and physical activity of fetus/ T RIg] &t 3G Td IR TfAfafer

2. Growth of placenta/ THTA &t JfG

3. Increase in maternal body/ TTdT & TRR H gig

4. All of the above/ Iudad T+t

Correct Answer :-

o All of the above/ B'Clﬁaﬂ Tt
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42) Cholera and diarrhoea are caused by:/ 89T 3R g& ERI B &

1. Viral infection/ faSTO] Sehror
2. Bacterial infection/ SfdTU] TshHol

3. Worms/ &0
4. Protozoa/ PICEIR

Correct Answer :-

« Bacterial infection/ SAT0] HehHUT

43) A vegetarian mothers have more chance to getting the deficiency of:/ UTHTERY Arar &
®1 HH g BT Tura Sfire gt B

1. Vitamin ¢/ fae1®= C
2. Vitamin A/ faefi= A

3. Vitamin B-12/ fdeifi= B-12

4. Iron/ 3RRA

Correct Answer :-

« Vitamin B-12/ fdeif= B-12

44) skin-fold calipers measured the thickness of:/ f&p9-wics Hferuyd $1 Hiers AIId 8:
1. Protein layer/ U¢H &1 U

2. Fat layers/ a1 &1 Ud

3. Carbohydrate layer/ HIEGRESE HI Ut
4. Water layer/ OF &1 U

Correct Answer :-

« Fatlayers/ a1 CARK]

45) Tetanus is characterized by:/ fee9 &1 sifyaeror %:

1. Muscle rigidity and painful muscle spasms/ ofem | Ted1 Td a‘c%gaa Uo

2. Stiffness and pain often begin in the jaw muscles/ Ui: \_:Fq’% & ufRkm ¥ Eb%q:f Td a6 B [P 3AHTd Gl ?
3. Pain abdominal muscles/ 3& &t iR A <

4. All of the above/ G'Cl?iﬂﬁ b

Correct Answer :-

« All of the above/ wjaa Tt
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46) Which one of the following vaccine given as Birth dose (within 24 hours) for institutional
deliveries:/ YRINT UHGl & 1T 378 | H1H-I1 IR\ 570 & THY B} TP (24 6 F 3f<R) & TUH
fean < &:

1. Hib/ Ta3Sat

2. Hepatitis-B/ 8UCT3CH-B

3. Pneumonia/ =g

4. Lyophilized/ fRU-pigd (ARfhaEss)

Correct Answer :-

« Hepatitis-B/ 3Uc8fcy-B

47) During the first two or three days watery and yellowish fluid that comes from the mammary
bland differs from the regular milk and is called:/ man'cﬁ 3 a1 94 fof & R T TfRray J yaen
TWRaTRA M A I g AT g g, S _____ ped &

1. Special milk/ faviy ¥
2. Brown milk/ EI'RI'&‘QH
3. Colostrum/ TN (PIeieH)
4. Cholestrol/ Pl

Correct Answer :-

« Colostrum/ UY (HIaTReH)

48) 25th February 2012, WHO removed India from the global list of:/ 25 WId3l, 2012 F) fay W=y
TS (WHO) o YRd &1 ot afyye T | Frera feam

1. Measles endemic countries/ WIRT HeMERI CIEE

2. Polio endemic countries/ Ry TR CIREE

3. Tuberculosis endemic countries/ CISRG AR HEHR! a1l G
4. Tetanus endemic countries/ féT 9 HEMRY a1 <X

Correct Answer :-

« Polio endemic countries/ Tiferal HEHRT aTal <20

49) Green Leafy vegetables and fresh fruits are the poor source of:/ B TR aferar SR arel v
BT 3BT Hid 781 ¢

1. Protein/ WA
2. Vitamin A/ T A
3. Vitamin C/ faeT@= €

4, Iron/3RRA
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Correct Answer :-

« Protein/ TIcH

50) Which programme comes under the umbrella of National Rural Health Mission?:/ -1

STIHH AP ATV WA AT F rax | 31T 82

1. Iodine Deficiency Disorder Control Programmes/ S <gAdT faeR P Hrfey

2. Vitamin B Deficiency Disorder Control Programmes/ faeifiia B =g7aT fa®R =0 srisH
3. Vitamin C Deficiency Disorder Control Programmes/ faeifiia C =g=7aT fasR =0 srisa
4. Calcium Deficiency Disorder Control Programmes/ &feXrad =g7dT fasR =0 srisH

Correct Answer :-

« Iodine Deficiency Disorder Control Programmes/ 3G TQEIFITWR ERENEIUER

51) Which factor affect the low birth weight of fetus?/ ®H-I1 RS TR RIY F 577 & I07 FH
YR & YHIfIT Hear 82

1. Age of the mother/ HIdT P 3y

2. Improper or inadequate prenatal care of the mother/ HIdl Cil 3{{%?[ 71 3ruafe Wqﬁ LGHY ]
3. Both of the above/ JTRIad Gl

4. None of the above/ SIRIgd § I 1S Tl

Correct Answer :-

« Both of the above/ IURIS Gl

52) A child who is shorter than the expected age group is known as:/ 3Ufard Mg aif | &0 TETg
I I B PET ST gl

1. Wasting/ &3t

2. Stunting/ IS-3&
3. Underweight/ I ¥ HH 4R

4. Overweight/ T ¥ & UR

Correct Answer :-
« Stunting/ 335

53) Which of the following factor affect the fetal growth during pregnancy:/ TUfaRT & R MRy
gy 3 9fS Y 379 A F9-T1 FRS gUIfad Hear 82

1. Infection/ ThHUT

2. Nutrition/ TYSOT
3. Genetic/ 3{TIdfRIdH
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4. All of the above/ Judad Wit

Correct Answer :-

« All of the above/ STad Tt

54) NRHM stand for:/ NRHM &T RT 7‘"1:[%:

1. National Health Mission/ =Id B R (P WA SHfH)

2. National Rural Health Mission/ el ¥%d 8 oA (ST A0 Ty 3ifar)

3. National Reproductive Health Mission/ =1d Rulsfaea ge M (IS U+ WA i)
4. National Regional Health Mission/ Tl YIed sl AR (ST &40 WA i)

Correct Answer :-

« National Rural Health Mission/ RIel ¥ g R (IFTT Ao T Sifivam)

55) Newborns lose heat rapidly after birth so it necessary to keep birth room temperature:/ S
F TG Aaud RILei F IR A ST HT dvit | T 8IdT 8, TAMAT o7 H& I TR TG TP
BT o

1. At least 15 °C/ ®H J HH 15 °C
2. At least 25 °C/ &H I &HH 25 °C
3. At least 35 °C/ &H I &HH 35 °C
4, At least 45 °C/ HH I HH 45 °C
Correct Answer :-

e Atleast 25 °C/ HH ¥ &HH 25 °C

Topic:- Grad_General Knowledge and Logical Ability

1) The disease 'beri beri' is caused by the deficiency of: / 8 T FR faerfiE 9 s @ T;a?lT %’
1. Vitamin B / faeT®= B

2. Hormones /B'I'Jﬁ:f

3. Todine/ TS

4. Iron / F'-ﬂ_E?T

Correct Answer :-

« Vitamin B / fderfi= B

2) In how many categories of awards is the Kayakalp scheme categorized? /

PIATHE T & RDHRI B! fpa-t AN A Aforma fovar war 82
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1.1
2.2
3.3

4.4

Correct Answer :-
e 3

3) The additional structure which provide nutrition is:/ 3faf¥ad =T Gl Yot DI UIYOT YT Bl

1. Amnion/3cd
2. Chorion/SIRTY
3. Umbilical cord/ATI T

4, Placenta/ S{UR[

Correct Answer :-

e Placenta/ U]

4) In which year was the Tribal Cooperative Marketing Development
Federation of India Limited set up by the Government of India? / <o
AT FghTt Ao fasrer Agree 7 M|t 91 9@ 7 ®q9 a9 § /AT ar?

1. 1987
2. 1988
3.1989
4. 1990

Correct Answer :-

- 1987

5) If 'English’ is called 'Hindi', 'Hindi' is called 'French’, 'French' is called
'Gujarati’, 'Gujarati’' is called 'Bengali’, then which of the following is local
language of gujarat?/3fe ‘3RS’ &1 &Y g1 wiran g, &l & b g1 ST 8,
aﬁ‘ggﬂ?ﬁ'ﬁrm%,‘m?ﬁ'ﬁ‘m'wm%,a‘rﬁaﬁﬁﬁqvﬂwaﬁwﬁm
HTYT §?

1. Bengali / STITcil
2. English/ Ui
3. Hindi/f&d
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4. Gujrati/? SR
Correct Answer :-

« Bengali / STTelt

6) DIRECTIONS: Find out missing number from the figures given below./

frdw: R § i snefaal # g e yra ST

}/ \/
/ ¥

24

42 7

12
\>/
A
?0/ 38
1. 76
2. 66

3.10
4.9

Correct Answer :-

7) Which of the following numbers have been allocated by the Government of
India as the Women Helpline Number for all States/UTs? / T&3% Ts31/3% AT
TR % T AT R  HIAH AT T HigaT goddTed dd¥ & €9 § safed fhar?

1. 112
2.108
3.181

4.1097

Correct Answer :-

8) CANCELLED
Which one of the following options is/are true? / 5 & ¥ ®iwar ey gt 87

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ =g STrfaar sifaf==m, 1956 afedi & UF 64 f@rg Taw o Fad
TRt 7 SATARTE |/IT Fehedt 8
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2. The Hindu Succession Amendment Act, 2000 gave daughters the right to inheritance
with her male siblings / &=z STIfaraTe Tema srfarfaaw, 1956 & gT afet &1 esra= 9=t % 91
IERGEEIEICEIES A EDIRIE )

3. Both of the above / 39Zi<F M1
4. None of these / Ta® ¥ #I< 5!

Correct Answer :-

« The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &g saterame sfafeas, 1956 afeat #i1 uF d4< forg TRaw & Fad
TRt 7 ATARTE /T Thelt &

9) Which of the following options is not correct about the Sexual Harassment
of Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013?
e & o FI9T AT T wrAeqS U Aw e (Fareor, gfaae sic sfaq) sfaf =, 2013
Traet faeT a8t 81 52

1. The Presiding Officer of the Internal Complaints Committee must be a woman/smafi®

forpTaa wfafq & srefrgrar wigen gt =Ry

2. ‘Workplace’ would not include dwelling place or house / ‘FEEI’ | @[ AT =T ATHHA
T &

3. Every district officer shall constitute a Local Complaints Committee / e foraT stfarrT<r
T U TITAT FOraa AH TS T TS FAT T2

4. None of these / % & F1E 7&t

Correct Answer :-

« ‘Workplace’ would not include dwelling place or house / ‘FTHeIe’ § ATATEE AT 72 ATHA
T &

10) DIRECTIONS: Choose the missing terms out of the given alternatives./

frrder: fu e fapedl 9 @ gt vl &1 91 &3
XX __ Y _XYYX_Y

1. YYXY

2. YXYX

3. XYYX

4. YYXX

Correct Answer :-
¢ YYXX

11) According to the National Food Security Act, 2013, which of the following
options are true? / TET T AT ATATIH, 2013 F¥aeefT 7 faweui & & F4T T8 872
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1. It extends to whole of India / g ¥ AXd ¥ @1 &

2. There are 5 members in the State Food Commission / 717 @Ter ¥ {d § 5 9a+7 gId &
3. Both of the above / 392 T

4. None of these / T7® & I A&l

Correct Answer :-

« It extends to whole of India / 78 W 9Rd H @R[ &

12) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically follow(s) from the given

statements./ fExr: i foT 70 Uz & $© FY R ITP 18 $© Fewd few mw § 1 smu
feu T SYA PG ATFAT 8, HA 8 A FagTd aa A fH= udid g1 8f 1 3+ freeut &) ufew
ﬁwgﬁm%mwﬁwﬁﬁﬁﬁ?mm‘ FUH IR HIdT 3, °ATe gaqTd 9
O |

Statements: /PY:

All birds are parrots/ﬂ‘l-ﬂ q&ﬁ,ﬁ?

All parrots are farmers /3%t 914, fpa g

Conclusions: /fs:

I. Some farmers are birdslwmﬁ, q&ﬂ%'

II. Some parrots are birds/@%‘?ﬁ?{, U&-ﬁ%'

1. If only conclusion I follows /3¢ dad sy I &HﬁTUTW%

2. If only conclusion II follows/3g dad FspY II &WW%

3. If either conclusion I or II foIIows/H%qTﬁﬁ'El?ﬁf 19111 &I':NTUTW%'
4. If both conclusion I and II follow /3¢ fAssd I 3R 11 QY &I_:NTUTW%

Correct Answer :-

. If both conclusion I and II follow /af¢ fsHY I 3R 11 H SFIARUI HRd ©

13) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’? o<t afofa (Trpam) sfarfRam, 1987 & siqsta R &
q HIAH AigATH w1 FAL FT FT H TGT ST THaT 572

1. A widow being burnt alive along with the body of her deceased husband forcibly / T
HIZAT AT 3197 gae Ifd F a8 & 97 Taawd! ST [<dT A7 W@ 8

2. A woman being burnt alive along with the body of her relative voluntarily / 7= ®fg=T
EEEAE LR e R e I Rt A IR AL E R e CEAS K IR ERIIS IEE I

3. Both of the above / 39%=F g1
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4. None of these / ¥ & F1E &t

Correct Answer :-

« Both of the above / 393k 24T

14) If an elephant is sold at a gain of 8% instead of at a loss of 7%, then
seller gets Rs.105,000 more. The cost price (in Rs.) of the elephant is: /‘qﬁt{@'
g1t B 7% BT B 3UET 8% TTH WX 94T W1, a1 fasha1 & U 105,000 A wrad gidt
10 &1 page (3. 7) &

1. 400,000
2. 660,000
3. 700,000

4. 760,000

Correct Answer :-
« 700,000

15) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure if a mirror is placed on the line AB?/ fidsr: fFa & & w19 Tt

I TP U= TP BT gUUT yidafaa gift afe TwgUur ¥@r AB W ¥@T 92

Question Figure f' TR AT

Ama

Answer Figures/ Jecit STl

el wae| X ez
(1 @ (3 (@)

1.1

2.2
3.3

4.4

Correct Answer :-

16) Which layer is responsible for process to process delivery?/ IRE| §3‘ﬁ'\ﬁﬂ
f&eftadt & fog o4 3t dur R §:

1. Physical layer/ fifSied oaR
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2. Data link layer / STeT fdid TR
3. Transport layer/ ST TR
4. Network layer/ Jcad WR

Correct Answer :-

. Transport layer/ TRIAIE TR

17) A computer on internet are identified by : / §EAC W TP HHeR
g T &

1. Street address/ el &1 Udl

2. IP address/IP Udi
3. E-mail address/ §—ﬂﬂqﬁT
4. None of these/ 378 T ®Is Tal

Correct Answer :-

o IP address/IP Udl

18) Which of the following statements is/are not true about the Indecent
Representation of Women (Prohibition) Act, 1986? / wfgaT T stwx wiataterea (fFer)
AT=aw, 1987 qeawet F=4T AFeT Tt Tal 87

1. It extends to whole of India, except Jammu and Kashmir / 7 sfarfazs Sy i wefiv &
AT T AT A

2. Representation on any ancient monument cannot come under this law / 3T gm==

T o &t Rl e afafRtaes o srferffer & siasta 2t o "endt
3. Both of the above/3u<i<s =T
4. None of these / =% § &I 7al

Correct Answer :-

« None of these / 37® & &g A&l

19) For how many maximum years can a parent or guardian be imprisoned for
promoting or permitting solemnization of child marriage under the Child

Marriage Act, 2006? / st faaTe srfarfaas, 2006 ¥ sigar e foraTe & daenfasar #1 agmEr
S AT FATS 3 % Forg wrar-fiar 7 sfsramas #1 fha stterraw aut a% s AT s asar g2

1.2
2.3

3.4
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4.5

Correct Answer :-
« 2

20) When was the Scheme of Top Class Education for ST students introduced?

/ T TASTAAT % o T FATE fUeAT 7 ST 7 AMET Fid 99 9 63T T97?
1. 2005-06
2. 2006-07
3.2007-08

4. 2008-09

Correct Answer :-
« 2007-08

21) A group of men decided to do a work in 15 days, but 10 of them absented
themselves. If the rest of the men finished the work in 25 days, find the
number of men that had initially decided to do the work./ f&Tal &1 T® gd fodl
&1 B 15 fE T T H o1 fH=ay wwar 8, 398 ¥ 10 afed sgufkia 8 omd 81 afg
Ay wafdd I &1d F1 25 oA & w1 R €, 9 eyl o) = R A feaHt <02

1. 18 men/ 18 3TGH!
2. 25 men/ 25 3{TcH!
3. 32 men/ 32 3fIGHt
4. 35 men/ 35 3{T&Ht

Correct Answer :-

« 25 men/ 25 3MGHT

22) Deficiency of Tocopherol leads to sterility in males and females. The popular word for Tocopherol
is 2 /AYBIhId o HH A Ul 3R afgarsit # aigru= $ 8k wrar 31 SerkRd & fore
deflm s &

1. Vitamin B/ faeTf&= B
2. Vitamin K/ fae1fi K
3. Vitamin E/ faeTi#M E
4, Vitamin C/ fae1f# ¢

Correct Answer :-

« Vitamin E/ fdeTfi=T E
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23) In PowerPoint, Good design determines:/ o @iEe ¥, 33T fEwirg= faffva
ol 8

1. Credibility/ fayg-taar

2. Readability/ TSI

3. First impression/ Ugdl YHTd
4. All of the above / Iudad Tt

Correct Answer :-

« All of the above / Iudad Tt

24) Which of the following will be the basic unit of the scheme Saanjhi? / s &
| AT TS T J THTS F9T g7

1. Constituency / 9T &=
2. Village / a4
3. Block / =Th

4, Gram Panchayat / 919 9=maq

Correct Answer :-
« Gram Panchayat / 919 9=maq

25) Walking at 4/5 of her normal speed Aaradhya takes 2 hours more than the
normal time. What is her normal time?/ 3=l HTHT= 7Ifd & 4/5 7Ifd | Tad §C
SRTAT YA ATHTY JHY F 2 HeT 3Afer Y ddl 8, a1 ST JATATY JHY T 82

1. 12 hours/ 12 dcT
2.9 hours/ 9 HcT
3. 10 hours/ 10 deT

4. 8 hours/ 8 ©cl

Correct Answer :-

« 8 hours/ 8 ©cl

26) How much percentage of the cost of resources is provided as grant by the
Ministry of Tribal Development to the voluntary organizations working for
Scheduled Tribes in the non-Scheduled Areas? / {Z-aqgf~d &= ® SIqg~a AT
¥ Forw 1 F arer S TEreAl i /9T F AT 7 AT T ST w1 HATAT g1
AETT F €7 A g7 Jrar &2
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1.70
2. 80
3.90
4. 95

Correct Answer :-

27) Who will be the Nodal Ministry for the implementation of Beti Bachao Beti
Padhao Scheme? / & I ST 9T TISHT % FHIAT-GIAT & (7T IS HATAT HIET GIIT?

1. Ministry of Health and Family Welfare / TaTe=T 3T afiaTe Feamor §a1ag
2. Ministry of Human Resource Development / AT SHTeA A #3109
3. Ministry of Women and Child Development / #ifgaT ta a1t fasme #3meaT

4. It will be done jointly / o8 #3<h &9 & T ST

Correct Answer :-

« Ministry of Women and Child Development / AfgaT Ta a1t fershre e

28) In how many years will Rs.25,000 amount to Rs.27562.5 at the rate of 5%
per annum when compounded annually?/ fpaa aul & +ug 25,000 1 I 5%
I Thgfes IS Bt &R A FUY 27562.5 g JRAMN?

1.3
2.4
3.1

4.2

Correct Answer :-

29) Which statements about IPv4 and IPv6 addresses are true?/IPv4 3R IPv6

Ud & g # P9 A1 HY9 99 &

1. An IPv6 address is 128 bits long, represented in hexidecimal./\’rﬂ'sgqclﬁ 6 UdT 128 fae dan
glar g, o f& soarsdina § euiar ST ]|

2. An IPv4 address is 32 bits long, represented in decimal./&ﬂﬁﬂﬁ4w 32%’(.’@%%’,
it o5 St & guifar ST 2 |

3. Both of the above/ IWIFd gl
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4. An IPv6 address is 32 bits long, represented in hexidecimal./38UTdt 6 UdT 32 fae e

BT e, o fob oS diaa § axifar wrar 21
Correct Answer :-

. Both of the above/ SWRIad gl

30) What age-group of children is ensured free and compulsory education
under the Right to Education Act, 2009? / f7:q# ii¥ stfaard arer fver (rdis)
srferfaae, 2009 F FTT FaE SL-a7 & ag1 Bl (7900 N srfard faverr <F Srehi?

1.6-12 years / 6-12 7
2. 6-14 years / 6-14 39
3. 6-15 years / 6-15 a9

4. 6-18 years / 6-18 a9

Correct Answer :-

« 6-14 years/6-14 99

31) Glycogen is often known as:/ TATABISI P! HTHTAT BT SITdT &:
1. Animal starch / Glﬁ?ﬁf

2. Insulin/ $feH
3. Alginic acid / el 3

4. Cellulose / @Wjﬁq

Correct Answer :-

e Animal starch / Glﬁ?lﬁ

32) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ &z fAafeRad urg a1d &1 wmyd® sreaas s A e uy &
IR diferg

Percentage of expenses on various items during book production and sale/

@ & Iere 3R faet # fafirs wel w @ &1 ufawe
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Advertising cost/ T --_‘_'_'_‘—'——-__\
wd, 18% -

Birndingcostf WETHT
wd, 18%

Boyalty cosy/ HTTER
I, 15%

Migeel laretut cast).
fafrr &, T

Paper cost/ TS A,

T%%

The ratio of expenditure on miscellaneous and printing cost are respectively:/

fafay siik fiifén @< W =g &1 =T 3rqurd @
1.1:3
2.1:5
3.3:7

4,25

Correct Answer :-

« 1:5

33) CANCELLED

A sum of Rs.295 is divided among A, B and C in such a way that A gets Rs.10
more than what B gets and B gets Rs.5 more than what C gets, then ratio of

their shares is:/ U3 295 &I A, BdUT C § 5H d3g dic-1e f% A FI B ¥ T 10 3ifs
I g1 94T B @I C | ©Ud 5 31wt g, af 31 3l &1 Srqurd &

1.22: 20: 19
2.16: 17: 18
3.11: 14: 19

4,15: 18 : 13

Correct Answer :-

e 22:20: 19

34) Which of the following had launched the Swachhta Udyami Yojana? /
TTIAT SEHT ITSAT T 19 Fohae f3ham?

1. Ministry of Health and Family Welfare / T&aTer Ua qfR&TT Fedmor GaTe

2. Ministry of Tribal Affairs / ST T HAT4
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3. National Safai Karamcharis Finance & Development Corporation / T8 HTS F#H=T<T fa=
e e e

4. Ministry of Urban Development / erg<T famma samer
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / T8 TS FH=T<T fa<T
LEREEDGRERES

35) Emergency hormone is-/APmePTen B"I"Hﬁ %—
1. Aldosterone/ Q@.RT‘R-H
2. Parathormone/ URTUTHI

3. Adrenalin/ Qé'eli%lq
4. Thyroxine/ YRRITRI

Correct Answer :-

e Adrenalin/ Qélﬁi%ﬂ

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ ﬁﬁi{[; rrafafaa vy A yyare e ) & R
TR T B T HI ST ?

340+17 “8x 9=?
1. 425
2. 360
3.392
4.395

Correct Answer :-

- 360

37) Eshaan starts from his house and walks 10 km in South direction, then he
turns right and goes 6 km, again he turns right and goes 10 km and finally
turns right and goes 6 km. At what distance he is from his starting point?/

SR, 30 TR A F 3T HaT ¢ 3R 10 fHet gféror fezn # ok 9aar 3, R sg siv gear @
3N 6 fopHY Tarar 8, 98 fibx giv g1 & 3R 10 it Taar 8 oMk sl &, ag giu gesar @
3R 6 fret erar 81 98 oA R fig A frat gt = 32

1. 8 km/8 ot
2.10 km/10 THt
3.6 km/6 T
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4. At starting Point/URfR® fog R

Correct Answer :-

« At starting Point/UR®® fdg &R

38) A popular microbial insecticide is: / Wﬁﬂ'ﬂ?ﬁlﬁ '\‘I&ﬂiﬂﬁﬂ Pre-=n %
1. Candida / dlal

2. Yeast/ ARE

3. Bacillus thuringiensis / CINEL] gﬁﬂﬁﬁm

4. Staphylococcus aureus / RTINS Iah ST

Correct Answer :-

 Bacillus thuringiensis / CIREL] %ﬁ@ﬁﬁm

39) Oxygen is transported in blood mainly by-/ Ydkl ¥ Rt ug%rr% iG] %—
1. Leucocytes/ T IATZC GRI

2. Erythrocytes/ SISUNTSE GRI
3. Blood plasma/ Xad WITgHT gIRT

4. Thrombocytes/ YTHAIITE GRT

Correct Answer :-

« Erythrocytes/ SISUNTSE GRI

40) Which one of the following figures represents the relationship

among Carrot, Food and Vegetables?/ﬁ'ﬁlﬁ@aﬁ:{-m mw, Y 3R il
& o 9 T B g g2

©

I
e
©
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Correct Answer :-

41) What should be the population of a Rurban cluster in plain and coastal

areas? / AT 3 TET & F T ForeeT i el fFa1 gt ATgy?
1. 15,000 - 30,000
2. 20,000 - 40,000
3. 25,000 - 50,000
4. 30,000 - 50,000

Correct Answer :-

- 25,000 - 50,000

42) When was the National Scheduled Castes Finance & Development

Corporation set up? / T¥ sy~ sia o va e Ao &1 s wariua e e
1. 1989
2.1990
3.1991

4. 1992

Correct Answer :-

« 1989

43) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STUTe=R sfa«aw, 1956 AH & ¥ foha A<l 9X A0 gIaT 52

1. Jews / STE[T HHTST o STaTt

2. Scheduled Tribe / g A ST

3. Both of the above / 3%k =T
4. None of these / =A% | #IE 7al

Correct Answer :-

« None of these / =A% | #IE 7l
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A is father of C and D is son of B. E is brother of A. If C is sister of D how is B
related to E?/A, CHI U2 3R D, BHI T RIE, ABTHTE 21TfSC, D F agAR @I B, E
3 g yoR Adfia & ?

1. Sister-in-law/= e/ HT4fl/9reh
2. Sister/dg+

3. Brother-in-law/ga3/Sioll/ITal
4. Brother/HT$

Correct Answer :-
« Sister-in-law/ ¢/ yTHl/are

45) To create an interactive Pivot Table for the web, you use a Microsoft Office

Web component called? / 99 & foQ ge’faea fiate arRolt 991 & o, smu
U AIEHINITE pd 39 Ucdh BT ITTNT Hd 8?

1. HTML/ T <t U9 3

2. Pivot Table Field List / fUdlc drferT wice gt
3. Pivot Table List / fudie arferT fore

4, Pivot Table Report/ fidle drfeemr Raré

Correct Answer :-

« Pivot Table Report/ fdle darfeemr Rard

46) Under the Juvenile Justice (Care and Protection of Children) Act, 2015, in
case of a heinous crime the Juvenile Justice Board shall conduct a preliminary
assessment with regard to his mental and physical capacity if the child has
completed or is above years of age. / FreN< =T (ATehi it @G AT HLEA)
AT, 2015 F ATATL TS ITAH 6T g IqT ITH ATYH T AT FheMT =TT AIE [ ST
ST T YT freieor AT R |

1. 15

2. 16
3.17

4. 18

Correct Answer :-

- 16

47) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fdzr: fFrafafaa vy & yyaras fus (2) F wM
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TR SRTHIT S "1 {9 ST ?

450 x 9077717 = ?
1. 5200
2. 5650
3. 5803

4, 7255

Correct Answer :-

« 5803

48) Enterokinase is responsible for the conversion of:/Fra & | frass ufvad= %ﬂ E?ﬂ?ﬂgﬁ\_ﬂ
aARGTE BT 82

1. Trypsinogen into trypsin/ %@T‘hﬁ:{ Cal ﬁ;@ﬁ |
2. Pepsinogen into pepsin/ U & ot |

3. Prorenin into rerin/ YRfA=a0T I9

4. Caseinogen into casein/ HRAOT B T A

Correct Answer :-

« Trypsinogen into trypsin/ E'@Fhﬁ:f Gl E@H o

49) Sonu scores 25% marks and failed by 15 marks, while another student
who scores 45% marks gets 5 marks more than minimum pass marks. The
minimum pass marks is: / T ® 25% 3iF U gidl & 94T 98 15 3P F 3ol gt
SITdT §, SIai% TP 30 BT ot 45% i@ U §idl &, StIvl g+ & 1T Sima=as <Aad 3@ A
5 3@ TP 3P UTed HaT 81 Sl 31 & 1T srraxgs gAaH 3@ ©:

1. 40
2. 60
3.30

4. 50

Correct Answer :-

50) Which of the following is not a type of relationship that can be applied in

Access database: /378 § B9 I TaY THAY ST A A1) &) fHar &1 g
1.One to One / dd ¢ dd

2. One to Many / &= ¢ B+t
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3. Many to many/ B ¢ Ot
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ Iudad it

51) How many triangles are there in the figure given below? /== & Wit sepfa o
Pryeit Ft "= feast 82

1.6
2.7
3.8
4.9

Correct Answer :-

« 9

52) Landscape is?/d8%hy g2
1. Page Iayout/ﬁTrr 33T

2. Paper size/ SN dT HHR

3. Page orientation / SIS &1 WDl

4. Font style/ Hi< Qe

Correct Answer :-

« Page orientation / BT BT IHJIHUI

53) Which answer figure will complete the pattern of the question figure? /=

T | B 3t IR Srpfa wy i o guf HRefi?
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4,

Correct Answer :-

)

54) The first number is thrice the second number and twice the third number.
The average of these numbers is 33. What is the value of the smallest
number? / TYH BT gl 1T T Bt forift 7 SR Fofta S1 $1 ST 81 37 H.mai &1
3T 33 21 FaQ DI T BT HIH AT 82

1.18

2.21
3.27

4. 36

Correct Answer :-

55) Which of the following acts is included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005? /

T 2T & wiger gxeror afafaas, 2005 F siasta A & & ST e s 9T % =amear § o gwar
g?

1. Insulting her for not having a child / sgT AT g 3 HTXOT SATHTHT FIAT

2. Harming her relatives to coerce her to pay for dowry / 38  foT Fawaed Fxd 9¥ 39+

freqamt &1 grie qg=m=T
3. Both of the above / 392 4T
4. None of these / =% | &I A&l
Correct Answer :-

« Both of the above / 39TI=F AT

Topic:- Grad_Managerial Skill
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1) Which of the following is a primary group?/ ET-I'I?[ I aﬁ?wmu&lﬁw%?
1. Political group/ NSEIRED qHg

2. Factory/ et

3. Family/ gRaR

4. School/faerme™

Correct Answer :-

« Family/ GRaR

2) A leader dictates to the members is known as a:/ Wﬁgﬁq%ﬁmﬁ a1/
Aqaddr i Fed &

1. Autocratic Leader/ ﬁwﬁ?ﬂ

2. Democratic Leader/ Qidbdli-ed Adl

3. Laissez-faire Leader/ 3{g¥qad =dr

4. Professional Leader/ URIaR ﬁ?jc‘c@?ﬁ/ﬁm

Correct Answer :-

. Autocratic Leader/ MR Adr

3) The book leadership in voluntary organization is written by:/ s34 9
drdedt ANAESIRE A e 7 ot 3:

1. A.F.Zanderr/ T.U%. ST
2. H.B.Trecker/ Td.dl. ¢

3. Brian O’ Connell/ ST 3 P
4. A.A.Livereiht/ T.T. feralie

Correct Answer :-

. Brian O’ Connell/ ST 3fl B

4) Bulletins, leaflets, circular letters, posters, fair, exhibitions, radio are the

media of:/ gafed, T, ufvud, Wer, A, wexif~ai, Isat > H1HH §:

1. Public communication/ JTdwi~e TER

2. Official communication/ 3MYHIRG IIR
3. Group communication/ IHg ¥R

4. Mass communication/SH IR
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Correct Answer :-

« Mass communication/SH IdR

5) “The group with which the individual feels identified, the norms and
objectives of which he accepts”:/ “dg d¥g fore =safea sro=m a1 8, e ardst
3T I 24l B 98 Werar 87:

1. Group based on compulsion of participation/ gHTRIAT ! STl TR SHTURT THg
2. Reference group/ T qHe

3. Group based on social class/ AT T TR MR THg

4. Passive groups/fAf&pa g

Correct Answer :-

« Reference group/ Ty g

6) The community development programme aimed to socio-economic
transformation of rural people was launched on 4 YTHIOT AT & HTHTTSTS-
e ufvads wR aféra aqera faera srdwu D AR fomam T U

1. October 2, 1951/2 3fagsR, 1951
2. October 2, 1952/2 3{dga}, 1952
3. October 2, 1953/2 3{dgs}, 1953
4. October 2, 1954/2 3{dcsR, 1954

Correct Answer :-
« October 2, 1952/2 3{dcsR, 1952

7) Action-reaction interdependence in communication is called:/ §9R ¥ foar-

wfafsrar sraf-Rar ot ed o
1. Credibility/ fay==gar

2. Feedback/ ®lsa (TAFHaM)

3. Message treatment/ Jo% HAER

4. Fidelity/ T

Correct Answer :-

. Feedback/ Wigd® (YAMHATM)
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By which year the millennium development goal of reducing world poverty by

half is aimed?/3fY& fA1fAdT &) a1 H 3T FA F AT AP 787 &) fopg af d&
gy forar ST 82

1. 2020
2. 2015
3.2010

4. 2012

Correct Answer :-

« 2015

9) are characterised by intimate, face to face associations and
informal personal relationships:/ BT FHALT 8 3T, ATHA-TTHA BT
STd 9YT SU=fYe safeiTd Jra:

1. Primary and Secondary groups/ i U4 fediad Fﬁj@
2. Formal and Informal groups / 3= Td SU=TRe THg!
3. Both of the above/ SWRIad gl

4. Groups based /9Hg 3T

Correct Answer :-

« Primary and Secondary groups/ W& T4 fgdiad Wfﬁ

10) Communicationis thesubsetof __ :/HdR__ &I 309q=d B
1. Diffusion/ faRur

2. Channel/ HI¥9H

3. Transmitter/ U8 (ZifHCR)

4. Receiver/ T dl

Correct Answer :-

. Diffusion/ fagxur

11) Leader ship is a function of :/ A, BT UPTY 8:
1. Group/ 9§¥g

2. Individual/ SafeRT

3. Category/ goft

4. None of these/ 378 ¥ PIs g
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Correct Answer :-

o Group/ 995

12) According to Berlo, the communication process has:/ gl & SR, JaR
wfemar o gd &

1. 6 elements/6 YCch
2. 4 elements/4 Uch
3. 8 elements/8 Uch

4. 10 elements/10 YUch

Correct Answer :-
« 6 elements/6 Ych

13) Community development projects were strated on 2nd of October, 1952,
then the number of blocks initially covered was 1/ dYar™a faora

TR 2 ey, 1952 Ft JRTY F T f | IT THT IR F Ba B T Tl A
trc:) R |

1. 45
2. 55
3.65

4.75

Correct Answer :-

14) Social mobilisation also reflects changes in society, such as:/ LIGNGED Ycrd

TuTS ¥ ufvad+ ¥t ufafaffaa owar g, o9
1. Urbanisation/ g0l

2. Industrialization/ SNl

3. Both of the above/ JWRIad gl

4. Social stratification/ HTHTSTG WROT

Correct Answer :-

« Both of the above/ IR gl
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During the first five year plan, the highest priority was accorded to 1/

Ugel UaquTa Ao $ R, @ gt wrdfiear & it
1. Agriculture/ $T¥

2. Industries/ I

3. Defense/ &l

4. Commerce/ HIAA

Correct Answer :-

. Agriculture/@:@[

16) Leadership is the product of 1/ ﬁ?jﬁ PT IAS 8:
1. Position rather than knowledge/ 31 CAE IR

2. Knowledge rather than position/ g &1 SS9 34

3. Position alone/ $ad Ug

4. Knowledge alone/&dd M

Correct Answer :-

« Knowledge rather than position/ Uq & ToIg 19

17) An outstanding of the role of the local leader is to: /I Adl/Aqaddr Bt
TS SATYURY YT 8 :

1. Good communication abilities/ 33! ¥R IRIATH & Jard BT
2. Authonatative/3MfE®R-gad BT

3. Aggressive/ 3{IhTH®D Gkl

4. Partial/U&Tel g1

Correct Answer :-

« Good communication abilities/ 3t TR A1l ¥ gad g

18) Development of leadership is:/ Aqd &7 fa@dT, g
1. A means in programme building/W fagtor & v 1em

2. An end in programme building/ HRiHH fAafor &1 Udh 3 (Eﬂ?)

3. Both a means and an end in the process of programme building/ ®Ri%H AT Ht
Ufhar 7 T e 3R Th 3=, a1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

4. Neither a means her an end in the process of programme building/®Td%H AT &1
gfsear § 7 df T1eM iR 7 &

Correct Answer :-

. Both a means and an end in the process of programme building/ %Y AT P
ufohar B T W1eH SR Ta 3, gt

19) A professional who influence innovation decision in a direction deemed
desirable by the developmental agency is : /fara woilt gRT gifesa art
Tt fe=m & Tavady & kg @1 gurfaa s aren i=eR g &

1. Innovator/ TavddD

2. Opinion leader/ Hd ﬁaﬁlﬁﬁ

3. Change agent/ URad 3ifiear
4. Group educator/d9g IRED

Correct Answer :-

. Change agent/ URad it

20) CANCELLED

By which of the following year the targets aimed under Bharat Nirman is to be

achieved?/HRRd frmtor & ?r&-ﬁ 3 frg ad WETRIH far s %?
1. 2008
2. 2009
3.2010
4. 2011

Correct Answer :-

« 2009
21) Community development project was started as a result of 1/
wHer faera ufvdre & IRUTHEEY R $I 74t &t

1. Royal commission report/ Jfad HHRE ®1 KU

2. GMF enquiry committee report/ GMF Sirg gfifa &) fRaid
3. Educational commission report/ f1&T 3mamT &1 faard

4. Nalargarh committee report/ [l lg gfufa &t faid

Correct Answer :-
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« GMF enquiry committee report/ GMF Sird IfHfa &1 faid

22) The entire nation was covered with community development programme
by the year /T TP Q¥ P B YY1 fIHT SRIHH FRT Pav o foran
T YT:

1. 1955
2. 1958
3. 1964
4. 1968

Correct Answer :-

- 1964

23) Campaign postcards have been found to be very useful communication
material in getting attention and positive response from the villagers in

special campaign. The reason being:/ faRw srfirari # yrfioi &1 warreifa w5
ﬁwuﬁ%ﬁﬁﬁmmwmwm%@?lm
DRI 5:

1. Villagers are used to the notion of post card communication/ Tl TReHTS TR B
YRUT & 3T §

2. It is an open letter read by many,they feel proud/ dg gl U gidl % SE] ﬁ?ﬁ“‘[qﬁ%,
3% T BT SN Bl ¢

3. It gives a personal touch to the communication method/ I8 T9R faf¥ &I T fgaTd
W ¢l §

4. Tt is a traditional one/Jg Th URWN® g

Correct Answer :-

. It gives a personal touch to the communication method/ I8 ¥9R fafyl &1 t& AfddTa
W= gar g

24) Mention which is the efforts against fragmentation an example?/ §dT¢ f&

g4 A P, fa@vsT & favg U &7 380 82
1. Socialization/ THTSIIHRUT

2. Social movement/ ITHINIG 3T<IaH

3. Acculturation/ TREIH UG
4. Disorganisation/ fa¥Ta

Correct Answer :-
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« Social movement/ ITHEIN®G 3T<Ia

25) Communication is the process by which messages are transferred from

source to:/ TAR B AP e RIS gRITIM AT __ &I Ugad &
1. Channel / HT&gH

2. Message/ﬁ@ﬁ

3. Receiver/ UTadl

4, Effects/ UHTd

Correct Answer :-

« Receiver/ UTd&dl

26) The term group is used to describe members who are alike in
their status or positions in the class system of society:/ e __

mﬂﬁmmwm%mmm%ﬁmﬁm%(m)maﬁ
worrelt ® 3o ug W qHIH &

1. Vertical group/ Go"%acﬂﬂjs’

2. Horizontal group/ ?Fﬁlﬁfﬂ'ﬂ:s'
3. Linear group/m R

4. Diagonal group/ ﬁTvb‘Ufﬂ'Hfs’

Correct Answer :-

« Horizontal group/ E?FI%IGIW

27) Communication when it is impeded and does not reach the receiver is
often known as:/Sd TR FTFRA 81 SITdT 8 3R UIddddl d el ugdm al ura: 39
ﬁ?{ %

1. Ineffective/ UHTA

2. Misinterpreted,/ Tiad 31 fAaTeT
3. Barriers/ d1¢T

4. Effective/qﬂ-ﬂac’f

Correct Answer :-

e Barriers/ 91Ul

28) A person who actually initiates the action in the community is :/

e A aRad § ST R $1 are Afad Farar §
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1. Professional leader/ ORIaR ﬁ?jc_clav_rﬁ
2. Assured leader/ 3T Sg@dd!

3. Operational leader/ aTeH Aqdddl

4. Popular leader/ By ﬁ—q’iﬂv_«ﬁ

Correct Answer :-

. Operational leader/ JATa Aqadmdl

29) Bulk of group specific and area specific rural development programmes in
India were initiate during :/URd | 9z Al ve &= falky amw fawr
SrEHl # F Srftrmrwr & IR IR™ fpd T Q-

1. Second five-year plan/ O3 Ugas{d AT
2. Third five-year plan/ T} Geasfa g
3. Fourth five-year plan/ @t Ueasg areT
4. Fifth five-year plan/ Uteid! daqyfg gyerT

Correct Answer :-

« Fourth five-year plan/ @ daadfa giemr

30) To encourage initiative, the responsibility should always be coupled with

corresponding:/ Ugd &I MATfed #31 & forg, IuRerld & A1y Yeg grafd ft
g1/ =R

1. Organisation/ ¥7&+
2. Authority/ ISR
3. Power/ fad

4, Control/fg=mT

Correct Answer :-

« Authority/ UTfI&R

31) Out of group attitudes are marked by:/ ‘W'\Q e (3M13e AT qa)’ I3 i
Ugd ©-

1. A sense of differences/ 3Rl &1 JAH
2. Some degree of differences/ $& HIAT ddh 3R
3. Mutual interest/ URWR® S

4, Conflicts/ﬂﬁﬂ?{
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Correct Answer :-

. A sense of differences/ 3~Ri &1 THS]

32) Mention how a contact farmer can be considered as:/9ardl 8 f& $ srgafia
feara =t AT ST €T 3:

1. Opinion leader/ Hd ﬁﬂaﬂv_df

2. Professional leader/ URaR ﬁ?jc_clﬂv_cﬁ
3. Official leader/3MRBIRG Agadmdl
4. Lay leader/3idIférd Aqadmdl ( deR)

Correct Answer :-

« Opinion leader/ Hd ﬁ?jc_dﬂo_cﬁ

33) Family can be viewed as:/ AR &I ¥ FUH 3@ o GhdT &
1. Permanent functional institution/ Y srafds X

2. An effective association/ T& YT Jgd

3. A secondary group/ U& fgdiae® aqg

4. A primary group/ WWWH’T&'

Select the right answer/9g! SR g4

1.1and 2 onIy/%ﬂ 1 3R 2

2.1and4on|y/W13?R4

3. 1,2and4on|y/W1,ZBﬁT4

4.1and 3 only/W 1 3R 3

Correct Answer :-

« 1,2 and 4 only/ %dd 1, 2 3R 4

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
fréwr: Fafafad e #1 aryde Tea? 3ud i @3 14 sglawa uzai & 98t fawe o1 a9
DI

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it
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effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is
personnel or non-personnel, the message must need the following three
requirements:/

TR BT WU Se=T AN &) g I@E1 81 TR T YRS, & avwT

T4 Teq TS UfhaT 31 32 JTSTeP gl Bl Aar S+ T1fel 390 Fia 4 &
forQ, ye= IR BT T YHTA ATHH U9 Acad U1l 81 59 U 9911 & forg, saredf
F U O U1 811 TSP &, 94 UKPpdi B THSAT, T AT 3R IT R $HeH IsaHT|
39 &5 ¥ SATaeTiv® U4, Uu® 3R Wrwddl, il &t ufvyular 9@ ugardr g1 W9R, §Ied
B TSR BT AT, T | MUAR TR FHSH = areit yrer & FHear g1 ufagfd,
SAThT TUT UTWThd! BI &HdT § Hbd! a1 WAsg! & TUTA! STHIST BT 3(HTF, TAR Pt
Tecayul GUATE &1 IR 4 TG GaR P AMURYT MaaHdT Bt ufvafdd et @edt g1 faaaw
ThTH A gt ¢ fr Wi are +1ffe 8 a1 R-w1fife, fadt ff Tar & wia ¥ wraedat 9o
T 9 & "o g4 & g Wew g1 fFmifea 69 smazgwarsit @1 gfd o=t 3

1. It must be so designed and delivered as to gain the attention of the

;é?ver../@mwmswﬁamﬁ%mﬁ%ﬁmqﬁ%?ﬁmﬁmm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Hhdl BT IUUNT g1 AT R Wd 9 Ut S JHE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./mmmﬁ STAGgh dT B‘cqﬂ@'—'ﬁ iIT%E{ 3R
ISP GIRT 37 ATAADATSH DI el BT BIg TAT AL 1T GATAT ST A1 8¢ ol, 98 difedd ufafepar
3 & e Ufva fpe 9 R, wrawdt & T9g ¥ e Suge 7))

The primary purpose of communication is to keep people /AR &1

WY IR AN BI G B
1. Informed/ gfd
2. Non-informed/ 3/ gfad

3. Announced/ Tf¥d

4, Authorized/&@ﬁ
Correct Answer :-

« Informed/ Qiﬁﬁ
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2) DIRECTIONS: Read the passage and answer the questions that follow./
. Fafafad e #) aryde teer 3ud A @3 1 sglawal uxal & 9t fawe o199
G

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it
effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is
personnel or non-personnel, the message must need the following three
requirements:/

TR BT WU Se=T AN &) g 11 81 TR T URWNR®, & avwT

TG Jdq ATHTIS Ufhar 81 39 AS-Td® a&gsil B qar S arfeu| 39 g1id o1 &
foTe, ye=M TR &1 U UHTHT ATEH T Acae UATdT g1 38 YU 994 & forg, Saredt
& U $O T B TaRAP &, O UThat bl FHSHT, TS AT 3R I9 W HeH IaarT |
39 & ® aTaeTiY® rgua, Uud 3R ureddt, gl wt ufyular 9@ ugardr g1 IR, s
B DRI BT AT, WIS | AR TR FHSH 1= areit yTeT & FHear g1 ufaygfd,
Sr=<IfshaT 9YT UTwdd! St &HdaT | Habdl AT WG| P GHTA! StPIST BT HTd, HAR Pt
Tgcayul GUTE &1 IR 4 I6hd GaR Pt AMURYA MaaHdT Bt ufvafdd et sedt gl faaaw
THTH A g1 g fF Ttd arg 1ffe 8 a1 WR-wrife, fad off TR & &9 @ urasdat 9@
TUTI &7 | dafva g1 & e dexr g1 Fwifea @ smaxgearsit ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

ﬁver../@mmmmm%mﬁm@mmm
|

2. It must use signals that are understood in the same way by both source

and receiver./39H TH Hardl BT ITGRT A1 A1feT for2 Hid 9 urcaesd!, <1 91 &1 3
LR EC K]

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./miﬂﬂmﬁ STIFHAT I gt EIT%I:{ 3R
ISP GRT 37 ATAADHATSH DI el BT BIS TAT AL 1T GATAT ST A1 8¢ Sl, 98 difedd ufatepar
A ¥ fore ufva fre o1 R, wrwawat & g & fore suga 7|

Both the sender and receiver to reach perfection what kind of experience

relevance:/ {6 PR &1 3rHa, Nu® 3R Urasdi, i1 @I aikqufar d& ugarar g2
1. Theoretical/ ¥GI~I®

2. Practical/ STagIRSG

3. Informative/ JId¥a
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4. Subject mater/favg-a¥]

Correct Answer :-

« Practical/ CACHIECE

3) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁi“\’r:
fFrafafad T @ aFyde yees 3uF R Y T sgfawad uxME § 98 fiwe &1 999 S

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR &1 WAfie 32 dl & iR I\ 81 R Uh URWNS, & aiw]

T4 el TS Ukt 31 32 JTSATEP gl Bl Aar S+ A1fe¢I 3/ Fa HA &
fore, ye=M TUR 1 TP UHTH! HILHH T Acas SMUTdT g1 39 YU 991 & fore, dareat
& U DO U1 811 ISP &, 94 UTKipdi Bl THSET, T AT 3R IT R $HeH IsaHT|
39 &9 § IqeTiN® U, WU 3R Uredddl, gl i URYuiaT 9@ ugardr ¢l IdR, I
B TSR BT 3JaTG, T | AR TR FHSH W= areit yTeT d Fear g1 ufagfd,
SAThaT TUT UTWThdl &1 &HdT § Hhdl a1 Mgl & YUTA! STHIST BT U, TAR Pt
Tecayul TUTE &1 IR 9 I6hd HaR Pt AMURY TaIHdT Bt Ufvafdd et dedt ol faaaw
THTH A AT g 6 Tdid arg Sifdie gt a1 WR-Prid®, feedt ot Tar # w9 S urasdt 9@
TYTd 9 & "a1id g & g Wew g1 fFmifea 69 smaxgsarsit @t gfd o= 3

1. It must be so designed and delivered as to gain the attention of the

;é?ver../@mmmawﬁamﬁ%ﬁaﬁﬁ%ﬁmﬁﬁﬁﬁavﬁmm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Hhdl BT IUUNT g1 AT R Wd 9 Ut ST JHE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./wﬁ?wmﬁ TG h dl WE’I‘—?{ iIT%E 3R
ISP GIRT 37 ATAAHATSH DI el BT BIS TAT AL 1D GHATIT ST A1 8¢ ol, 98 difedd ufafepar
& & e Ufva fpe o R, wramat & g F e Suge 8|

The important problems in communication are:/ AR B %ﬁ{ﬁm %

1. Lack of feed back/ Uidgf® &1 31uTd
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2. Interaction/ 3f=iferdr
3. Effective decoding signs or words/ BEGIRIREAE IR CIRCCARE)
4. All of the above/3udad qt

Correct Answer :-

« All of the above/3udad qt

4) DIRECTIONS: Read the passage and answer the questions that follow./

fréen: Fafafaa e @ aryde tees 3ud R Y T sgfawwd uxl & 98 fawe &1 999 &3

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT WUfS Se=T AN &) g I 81 TR T RS, & avw]

TG dq ATHIS Ufhar 81 59 ST a&gsil B qar Sl arfeu| 39 g1id o1 &
foTe, ye=M TR &1 TP UHTHT ATEH Td Acae UATdT g1 38 UHTS 994 & forg, Saredt
& U $O T Bl TaRAP &, O UTehdt bl FHSHT, TS ST 3R I9 W HeH IaarI|
39 &9 ® aTaeTiY® rgua, Uud 3R ureddt, gl b ufyular 9@ ugardr g1 IR, IS
B BRI BT 3IaTG, W6 | AR TR FHSH S+ areit yToT & FHear g1 ufaygfd,
Sr=AfshaT TYT UTwdd! Pt &HaT | Habdl OT WG| & GHTA! SIPIST BT U, AR Pt
Tgayul T &1 IR 4 I6hd GaR P AMYRYT MaIHdT Bt ufkafdd et sedt 8l faaaw
THTH A g1 g f Tt arg 1fe 8 a1 R-wrife, fed off TR & &9 @ urasdat 9@
T 9 & "o g+ & g Wew g1 fFmifea §9 smazgwarsit @1 gfd o=t &

1. It must be so designed and delivered as to gain the attention of the

;gqiver../aﬁmmwmswﬁaaﬂﬁ%smﬁ%ﬁ@@m%mm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Fhdl BT IUUNT AT AT R W9 9 Uraspdt, Sl JHTE &1 9
wEd g

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./mﬁmmﬁ STARIFHAT I gt il'l'%lz 3R
IAP GIRT 7 ATIADATSH DI el BT BIS TAT AL 1T GATAT ST A1 8¢ Sl, 98 difedd ufatepar
A & fore ofva forg o1 iR, wreawat & g & fore suga &)
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Communication is a proses:/ IR TP uferar %:

1. Reciprocal & two-way/ TRIR® Td IRl

2. Two-way/ IRl
3. Continuous social/ Idd JTHTfSIS
4. All of the above/ Iuddd Ft

Correct Answer :-

« All of the above/ Iuad Wt

5) DIRECTIONS: Read the passage and answer the questions that follow./

frdzn: Fafafaa T $ wryde yeer Sue - @3 T sgfawed uxEl § 98l fded &1 999 B3

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR &1 Wit 3e=g @ &) gfd T@T 31 R Uh YRS, & aewT

T dq ATHTITS Ufhar 81 59 JIS-Td® asgail B Jal S arfel| 39 g1id o &
foTe, ye=M H9R &1 TP UHTHT ATEHH Td Aead UATdT g1 39 YU 994 & fore, Saredat
& U $O 0T Bl TARAP &, O UTehdt bl FHSHT, TS AT 3R I9 W HeH IoarI |
39 &1 ¥ SAraeTive® U4, Uu® iR urwaedal, ¢l &t ufvyufar 9@ ugardr 81 JER, Wred
Pt AP BT AT, TS A MUAR W JAS A= arelt T § Hear g1 ufayfy,
SATHAT YT UTWhdT Bt &HaT | Wbl a7 Jeql & TUTA SIDIS BT UTT, JAR Bt
HEayUl IHETE &1 R d g d WaR B MURY MaRadhdl &! ufvafdd T8l drdl ol faaar
ThTH A g1 g fF T arg ifde g a1 R-w1ife, fad off Tur & &9 @ urasdat 9@
THTA! &7 | dafva g1 & fog dewr g1 Fwifea @9 smazgearsit ot gfd o=t &:

1. It must be so designed and delivered as to gain the attention of the

;ﬁver../@mﬁmmwa?mﬁm@mmm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Yhdl BT IUGNT g1 AT oI Wd 9 UTedpdt, Sl JHE <1 9
HHIIA I

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./3d® gRI WTWdd! H ATGLIHAT ST gi-t ATRT AR
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IAP GIRT 37 ATAADATSH DI el BT BIS TAT AL 1T GATAT ST A1 8¢ ol, 98 difedd ufatepar
A & fore o frT oM R, wreasal & T9E & fore Suge 8|

Communication needs both :/ AR B a4 arfgul

1. Source and receiver/ 9d Td UTaddl

2. Communicator and receiver/ SaR&dl U4 Wl
3. Source and signal/ |id Td Jod

4. None of the above/ 30dad & ¥ @I f 61

Correct Answer :-

« Source and receiver/ 9id Td YT dl

6) DIRECTIONS: Read the passage and answer the questions that follow./

frdzn: Fafafaa T $ wryde yeer Sud T @3 T sgfawed uxEl § 98t fded &1 999 S

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR &1 Wit 3= @i &Y gftd ¥@1 31 H9R Th URW®, & aewT

TG dq ATHTIS Ufhar 81 59 JIS-TdH® a&gsil B qar S arfeu| 39 g1 o1 &
foTe, ye=M H9R &1 TP UHTH! ATEH Td Acae UATdT g1 39 YU 994 & fore, Saredt
& U $O 0T B TaRAP &, O UTehdt bl FHSHT, TS AT 3R I9 W HeH IoarT|
39 &7 ¥ araeTive® qud, Uu® iR urwaedal, -l &t ufvyufar 9@ ugardr 81 JER, WIed
Pt TP BT AT, TS A MUAR W JASN A arelt T § Hear g1 ufayfy,
SAThAT TUT UTWIhd! DI &HdT H§ Hbdl a1 WAsg! & GUTA! STHIST BT 3(HTF, TAR Pt
Tgayul U &1 IR 4 I6hd GaR P ATYRYA MaIHdT Bt Ufvafdd et sedt 8l faaaw
ThTH A g1 g o Tt arg 1fidfe g a1 R-w1ife, fed off TR & &9 @ urasdat 9@
YT U & Hafva g & e Wew g1 fFmifea §9 smazgsarsit @1 gfd o=t &

1. It must be so designed and delivered as to gain the attention of the

;gver../@mmmwﬁamﬁ%ﬁmﬁﬁm@m%mm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Hhdl BT IUUNT g1 AT I W9 9 UTdpat, Sl JHTE &1 9
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HHIA B

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./3H® gRT UTdd] § TG dTl I gl I1ey iR
AP GRT S MaLaHarsil B gfd &1 B 0T aDBT AT ST A1fe¢ <, 98 qifesa ufafepar
A F fore Afva fore oM R, wraawdat & T & fore Suga &)

should be appropriate to the receiver:/ Uredddt & e SUYgdd
g1/t =nfee:

1. Communication/ ¥dR
2. Interaction/ 3r=dfspar
3. Information/ a1

4. Subject matter/ favg-a%]

Correct Answer :-

« Communication/ IdR

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fdz: FaffEa e & eaFyd® e 39 T A T sgflawadt wz=i o gt
faweq &1 999 B

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ATINS! B I7% foe FlaureHe WAl W ¢ UeH $1 & ¢ G241 vd =R
wrenffeal (ICT) &1 ITART ggdr o1 Y87 31 ATHIT ICT ST ATTR®! & 39 gl § g
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ST TR (S RTeT YRR, GgeR 6, %Y, ST U SReRT fTUTT) Y Farg o
P & T B 21 T AT dgar U fpwradt feefadt aur wehaor gureT Uy A
# ICT FT TN Fd &1 $§ WPR-ARNS (G-C) F-Ta-He urgae uiareraii 3 ugd
e, MUR ¥ i H, THHUI ANl I YATH HA, URSIAT T, 3R Teh JHY U &
fore =9 tenfifeal &Y e &1 yary frar 81 urgee uivaisre & v § I §-7a-ide
AN # TP T T faspia &1 Wt @ st v Jarsit 9% IR g ueH #39 3iR
WPR-ANNG HagRI S YPHUT DI 98aX 911 W aféd 79 F O 7 IR T R
wATTH N fFar 8 3R ot Favadaer! usfaal & fore ufaf§a R oitd 81 5819 amdfior
< # 1cT F ofda it @ ok 3% | E-Tra-Ae ufvuieHT sraf-aeq & foe g
Aisdl & ¥ & 3@ wrar g1 399 A srfewiwr ufeasnsi 3 gevae meanfia & faer sk
PC & @NTal & HHI &Y Yg¥ RITHI a9 Uga- & AU & U § 36T 1 3 T pAfaeiad]
TUTYE & R W Wiel grudaR M 3R ISP & 9T e Ugd &1 SUanT odl 31 371
o MEH & e gu GHT SFSR @Y, ISP A 98 PC snurfya fra! & wfte e
THd Ugd fig & 0 ¥ 3 H1 31 vard fopar 81 oo uRaieaeil 3 ger I 9% g
& foe arara Menfiat & a1y wah foean 31

Expand ICT:/ ICT &1 [T 919 §:

1. Information Communication Technology/ STHIARM HRIHHIA caraion (AT AR
BIGIITE))

2. Integrated Communication Technology/ S¢iice HRIFHRH caidrsl (Fafdhd IR
BIEIRCH)

3. Implied Communication Technology/ STTEE HHRIAHIH carars (Tfd TaR UrenfireT)
4. Internet Communication Technology/3e3Ae HRIFG I THIdT (Fexe TR W)

Correct Answer :-

. Information Communication Technology/ SThHIHRH BB caarst (Y-l TaR

8) DIRECTIONS: Read the passage and answer the questions that
follow./ féz: FaffEd e f eaFyd® ued 39 - A T sgfawadt uxei o w8t
fawea &1 999 S

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
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rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 37 foe glaure e Rl W J91¢ UerH $1 & FI¢ G- vd 1R
wrenffeal (ICT) &1 ITURT ggd1 o1 Y87 31 ATHIT ICT ST ANTR®! & 39 7ial § g
g el (S T w=IE, gt 99, 59, T Td AR fAUTT) 3 Farg o
B & TATH B 81 A SIUANT dgax Ud fPwTad! HAfaefad! auT UshHUT THTUT U HI
# ICT FT TGN Fd &1 $§ WPR-ANNS (G-C) F-Ta-He urgae uiarsrsii 3 ugd
e, YR ¥ i HA, THHUI ANl I YATH HA, URSRIAT T, 3R Teh JHY U &
fore =9 tenfifeal &Y = &1 yary frar 21 urere uivaisre & v § I §-Ta-ide
YA B TP ISt T faspfa @1 1t @ St Ay Jareii 96 T Ugd UgH w3 SR
WHR-ANRS HGGR] & WHAU DI ¥ T4 W Afdd 1570 § $S 7 IR TR W
AT fHar § 3R Ut Tauad—eR ugfaal & foe ufaffd R ot §1 3= arfior
< # 1cT F ofea gt @ ok 3% | E-Tra-Ae ufvuieHT srai-aeq & fou g
Aisdl & ¥ & 3@ wrar g1 399 F srf¥ewi=r ufeaensi 3 gevae mafie & faer sk
PC & arTal # Sl 3 YR RITI 9% Ugdd & GO & U § 3@ 81 3 I PAfaefad
IHTY & R W HiEl GRUAR o1 3R ISP & WY Sev-e Ugd &1 Ul oidt gl Si+
o MEH & Y guw GHT SHESR @Y, ISP A 98 PC smurfya frae! & Wity e
THd Ugd g & &0 A b o3+ 31 vard a1 g1 $© uRaieret A ggr ®IH=l @ g
¥ foe arara MmNt & a1y wah foear 21

ICT applications attempt to offer the services of:/ ICT &Iﬂ'uﬁ'fl *t QHTE
U7 A BT YATH B &

1. Central agencies/ Hg TSl

2. Social agencies/ BIEISED Qﬁﬁl’iﬁ
3. Economic agencies/ 3 wolfat
4. Political agencies/ NSEIRED ToiRAf

Correct Answer :-

. Central agencies/ %19 TolRal

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafefEd e & eaFyd® tea 39 T A T sgfawadt wxi o gt
faweq &1 999 B

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
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pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ANNS! $1 I9F i glaeurse wHEl W Jare yerqd $31 & e e vd §ur
wenffeal (ICT) &1 ITRT ggdr o Y87 81 ATHIT ICT ST ANTR®! & 39 7ial § g
P Tl (S forar u=ngE, Geer) I, Iy, S T IRART fAURT) F Jarg o
B P YA B 81 T VAT 3gar Ud frwrad) SAfaefad! aum Ushaor aurar o= o
# ICT FT TGN Fd &1 $§ WPR-ANNS (G-C) F-Ta-He urgae uiarsrsii 3 ugd
e, YR ¥ i FH, THHUI ATl I YATH HA, URSIIAT T, 3R Teh JHY U &
fore =9 tenfifeal &Y = &1 wary frar 21 urgere uivaisre & v # I §-Ta-ide
VAT P TP T =T fafra & Tt & o Aaie Jarsit 9% Jd Ugd ueH A R
WPR-ANNG HAgRI S YPHUT DI 9gaX T4 W afdd 70 F O A R TR R
AT fHar § 3R Ut Aauad—eR usfaal & fore ufaffd ReeR ot §1 311 Irfior
< # 1cT F ofda it @ 3R 37 U E-Tra-Ae ufvuieHT srai-aad & foe g
Aisal & ©u § @1 a1 81 3799 F Srf¥epi=r uaerned J geae meanfie # faer ik
PC & ANTal & HHI &Y Yg¥ RITHI a9 Uga- & AU & ¥U & 36T 1 3 X pAfaeiad]
IHTY & R W Hiel gRUdR o1 3R ISP & WY Sev-e Ugd &1 IudNT oidt gl Soi+
areior MEH & T 90U GHT SESR @), ISP @ 98 PC nutfya frae! & Wity te
UHd Ugd g & ®U A Vb He 31 vaw (a1 g1 $© uRaierse A ggr Il @ uga
& foT arraw Menfiret & a1y waT fean gl

have attempted to adopt to improve technologies:/ q dgR
wrenffeal @ s &1 v forar 3

1. Firka project/ IEZCaRC IR

2. Government pilot project/ TR®RI UrGAC GRISHT
3. Srinikethan project/ A& dd gRaeHT

4. None of these/3TH ¥ ®Is -Tg!

Correct Answer :-

« Government pilot project/ TR®RI GrI@C TRASHI

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAqzr: Fafefad Twi ) eaFyd® te 3uF 1 fd T sglased! w=xei & 98t
faweq &1 999 B9
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The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ATINS! B I7% fo¢ iaureHe Rl W J9¢ U= $1 & ¢ G471 vd =R
Wenfifeal (ICT) &1 IURT ggd1 o Y87 81 ATHI ICT WAt ATTR®! & 39 7ial § g
ST TR (S FTe YRR, 9geR 6, Iy, ST U SReRT fIUTT) @ Jarg uw
B P YA B 81 T VAT 3gaR Ud fhwrad! Safaefad! aum Ushaor Gurar o= o
# ICT FT UGN Fd &1 $§ WPR-ARNS (G-C) F-Ta-He urgae uiarersii 3 ugd
e, MUR ¥ gfg HR, THHUI ANl I YAdH HA, USRI T, 3R Teh JHY U &
fore 59 tenfiferal &Y e &1 yary frar 81 urgee uivaisnsel & v # g §-ma-ide
VAN F TP TS T faspfa &1 Wt @ S v Jarsit 9@ IR g werH #1 3R
WPR-ANNG HagRI S YPHUT DI 9gaX T4 W afdd 79 H O 7 R T R
AT fHar § 3R Ut Tauad—eRI Usiaal & foe ufaffd ReeR st §1 311 Irfior
< # 1cT I Tfda st @ iR 5% |l E-Tra-Ae ufvuieHT sraf-aeq & foe g
Aisdl & ¥ § 3@ ordr g1 399 A femi=r ufeaernelf 7 gevae Ml # faer ok
PC & @NTal & HHI &Y Yg¥ RITHI a9 Uga & AU & ¥U & 3T 1 3 X pAfaeiad]
TUTY & dR W Wil grEdaR M 3R ISP & 9T $e3e Ugd &1 SUanT odl 1 3=
o MEH & Y 90U GHT SHESR @Y, ISP @ 98 PC snutfya fra! & Wit e
THd Ugd fig & &0 ¥ G H1 31 vard fopar 81 oo uRaieasil 3 ger I 9% g

& foT arraw Menfiat & a1y wa fear g1
ICT models for future project implementation:/ HTal ufarsET
Praf-agd & foQ ICT ATsa:

1. E-government/ 3-Td-Hc
2. E- panchayath/ 3-Uam0d
3. E-journal/ 'SC-W

4. ICT

Correct Answer :-
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. E-government/ 3-Ta-Hc

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FaffEa e & eaFyd® tear 39 T A T sgfawadt wxei o Wt
faweq &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ANIRSI $ I9F 1 glaerse wHEl w® Jare yerqd $31 & fore e vd §ur
wenffeal (ICT) &1 IURT ggd1 ST Y87 31 ATHI ICT ST ANTR®! & 39 7ial § g
ST TSR (S T YRR, GehR 6, ST, ST U SReR] fIUTT) Y Fare o
P & U B 21 A SFUANT dgar U9 Fpwradt eAfaefadt aur wehaor qureT U=y A
# ICT FT TN Fd &1 $§ WPR-ANNS (G-C) I-Ta-He urgae uiareraii 3 ugd
e, MUR ¥ i HR, THHUI ANl I YAdH HA, URSIRIAT T, 3R Teh JHY U &
fore == tenfifeal &Y = &1 yary frar 81 urgere uivaisrel & v § I §-Ta-ide
AT B TP Tt T faspfia &1 Wt @ st Anifve Jarsit 9% IR g ueH a9 3R
WPR-ANNG HAgRI S YPHUT DI 9gaX T4 W afdd FIT7H H O 7 R W R
wATTH N fFar 8 SR ot Favad-ar! usfaal ¥ fore ufaf§a R oitd 81 5819 amdfior
< # 1cT F ofda it @ ok 3° | E-TraAe ufvuieHT sraf-aeq & fou g
Aisal & ©u H @1 a1 81 5799 A Srf¥eeisr ufaerrsit F geae meanfie # faer ik
PC & @NTal & HHI &Y Yg¥ RITHI a9 Uga & @AW & ¥U & 3@ 1 3 T pAfaeiad]
IHTY & R R WiEl gRUaR ol 3R ISP & WY Sex-e Ugd &1 IudNT oidt gl S5i+
e MEH & Y gu GHT SESR @Y, ISP | 98 PC snutfya fraa! & Wit e
THd Ugd fig & 0 ¥ 3 H1 31 vard fopar 81 oo uRRaieaeil A ger Il 9% g

& fore aras Menfret & a1y v foean g1
Project have experimented with the _ technology to reach the remote
location:/ URATSHTSM = Ygr WIMI dF Ugdd & fag Wt & 1y v fean

2l
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1. ICT

2. Kiosks/ frars
3. Wireless/ araRad
4. Satellite/ 3U¥g

Correct Answer :-

« Wireless/ IR

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faffaa e & eaFyd® tea 39s T A T sgflawadt uz=i & g
faweu &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 3% fT glaure e Rl W J91¢ UerH F1 & FI¢ g1 vd 1R
WfIfSal (ICT) &1 UG dear o1 ¥T 81 T ICT Sy ARSI &I 391 Tial A &t
=g iRl (S forar v, el 1Y, 59, T Td TRBRY fAUTT) 3 Jarg o
P & T B 21 T SFUANT dgar U9 fPwradt sAfeefadt aur weraor g U= A
# ICT &1 IUANT $d 1 B8 WPR-ANING (G-C) -Ta-Ae¢ urgae uiarersit 3 ugd
e, 3MUR ¥ gfg HA, THHUI ATl I YAdH H1, URSRIAT T, 3R Th JHY U &
fore =9 tenfifeal &Y = &1 yary frar 21 urere uivaisHne & &9 § g §-7aide
WA Pt T Tt T fyfra Ft 7t @ St A Aarsii 9@ Wve UgT e 31 iR
WHR-ANNRS HGGR] & WHAU DI dga¥ T W Afdd 1574 § $S 7 I-RITHT TR W
ATTHI far 8 3R Srueit Favad=eRt ysfaal & foe ufaf¥a Reer s &1 g8 arior
< # 1cT F wfea gt @ ok 3% | E-Tra-Ae ufvaieHT srai-aaq & fou g
Aisal & ©u A 3@ 91ar 81 379 A itz ufvarernai 3 evqe meafie # faerw sk
PC 3 ANTdl # FHI $ YR I aF Ugaq & aWR & U F W 31 T I8 dfaeradt
T & dR W Wil gREdR e 3R ISP & NT $ex-e Ugd &1 SUahT &dt g1 354
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yreftor HW & I g YT SR $1, ISP A 98 PC Syt ferawe! & wfve ue
THd Ugd g & &0 A b o3 31 w4y a1 31 $© ukaiersen A ggr ®IHl @ g
& fore aras Mt & a1y v foean g1

Offering easy access to citizen service and improved processing of
transaction: /A TRIIN® JAQT3fl 9% WA Ugd UeTd HT 3N HTERI & WHUUT P
gAY g

1. Government-panchayat/ SReR-UI—Id
2. Government-industry/ TRBHR-IINT
3. Government-government employees/IREGR-TIBRT HHARL

4. Government—citizens/W—W

Correct Answer :-

. Government—citizens/W—W

Topic:- Grad_Child Care and Education

1) Pre School Education related to: /2mar Yd fem w&fia 3:
1. InformaI/GFﬁ'q?lTR’E

2. Formal /G?FCF«ITW

3. Informal & Formal/ ST quT SRS

4. None of above /JWIdd & IS Tal

Correct Answer :-

« Informal/ 3OS

2) Need of protection is for:/ TR &UT Bt anamwa:ff%
1. For Development/ fopr & o

2. Emotional Maturity /@Wuﬁqaam

3. For Adjustment/ ‘v‘lﬂ@ﬂ?%ﬁm

4. All of the above /IURIe JH

Correct Answer :-

« All of the above /IWRiad gt

3) Determination of Development is:/ﬁmﬂ?ﬁ%ﬁ?ﬂ?aﬁ%z
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1. Maturity/ gRugddn

2. Growth cycle/ f{@%

3. Energy / 39l

4. Growth of Rhythm/ gfg &t @

Correct Answer :-

« Maturity/ URUddr
4) CANCELLED

What is the name of school situated in Lucknow for giving special Education

for hangicapped children? /IR fawai aras! @t fRien 3g a@—e i fawmea &1
TH T 82

1. Chetna Center/dd-l &g

2. Samarpan Center/‘v'ITFEfUTa'v_si

3. Bhavishy Center/Hfds &g

4. None of the above/ IWIad A ¥ BIs T8l

Correct Answer :-

« Chetna Center/dd &%

5) Characteristics of Informal Education/&ﬁ'q?lTW ﬁr&na&ﬁﬁw:-
1. Characteristics of Informal Education/m fRreqm P far=IerT-

2. Life long education / Sfia oi= e

3. Nil Syllabus/FR& UrIaHH

4. All of the above /G’Clﬂ?ﬁr bt

Correct Answer :-

« All of the above /ISWRigd g+t

6) Creativity is related to?/JoATd®dl fFad Trfd 32
1. New Ideas/dH faaR

2. Imagination/ WT&
3. Flexible/ S@iama

4. All of the above /IWRIad gt

Correct Answer :-
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« All of the above /3IWRIad gt

7) CANCELLED

Which is not chief principles of development?/ﬁ?ﬁ?ﬂﬁv‘ruﬂ'@mqﬁﬁ?
1. Continous speed /AR 3d=d Tifd

2. General to specific/ I ¥ fafre

3. Specific pattern / f3d ufaeg

4. Maturation & learning / URU&ddr Ud e

Correct Answer :-

« Maturation & learning / URU&ddr Ud 3y

8) Who is the founder of Trail & Error Theory?/ & & ®1 v+ iR Y@ Nisia &
S T 87

1. Theorndike / US E5g

2. Pavlov / Urddid
3. Skinner/ TR
4. Kohler/ ®ga’

Correct Answer :-

o Theorndike / ?JIHSI?@

9) Brale Lipi is related to:/ safelfy Iwfid @:
1. Blind child/ 3i% STai&
2. Speech handicapped / aToft faw i Sa®

3. Mentally Retarded child/AFHgE STl

4. None of the above / IWRiad # q BIs gl

Correct Answer :-

« Blind child/ 3¢ dTei®

10) Imitation, Attention are related to: /3fJ®00 TR Y- fid %:
1. Language development / HTYT fd&br

2. Social Behavior/ GTHINI®G SAdgR
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3. Mental Behavior/ AFRI® TdgR

4. None of above/ IWRiad # J BIs el

Correct Answer :-

« Mental Behavior/ AMRI® AR

11) Right stage of child development is:/ ST f[d&TH &1 T&l SJshH: -
1. Babyhood, childhood /ddUA,STedd®{T

2. Prenatal, infancy / Wufaw, CELE]

3. Prenatal, childhood / THTGRIT, STeuawT

4. Childhood, prenatal/dlicdd®iT, THgRT

Correct Answer :-

« Prenatal, infancy / THGRIT, §EUA

12) Change in development is: / faera o ufvad= 81a 8:-
1. Qualitative change/ TUTA® URad-

2. Quantitative change/ HIATH® JIATHD

3. Creative change/ YaTH® URad4

4. None of above/ IWRiad & A BIs el

Correct Answer :-
. Qualitative change/ T[0T TRdcH

13) Foundation of National AIDS control organization is:/ ?T@'!IWTB_—IEI%'RITEFIT

1. 1991
2.1993
3.1992
4. 1990

Correct Answer :-

« 1992

14) Among these which is not the classification of exceptional child?/ s-—n?rﬁ

P fARY s & Trffeor & A8 emar &2
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1. Intelle actual /difg® fa=e
2. Motor/TH® faged
3. Sensory Deviance / Td4! fage

4. Child welfare scheme / T BT TR

Correct Answer :-

« Child welfare scheme / TS BT TR

15) We understand Handicap child as:/{d&diTT 9= &I g7 94 &
1. IQ less than Normal/ E\{@W@W

2. 1Q more than Normal/ §fg I ¥ 31fdd

3. Physical disability/ QIR qy

4. None of the above/ IWRIdd 4 ¥ BIs Ta!

Correct Answer :-

« Physical disability/ IRIN® ¥

16) Which of the following is not the stage of language development? / fada
B9 It UTHT faprT Ft srawa T8 32

1. Preparation of speech/ SieH &1 daR!
2. Sentence use/ dTdd YA

3. Correct pronunciation/ & S=RUT
4. Socialization/ JHTSH®HUT

Correct Answer :-

« Socialization/ JHTSI®HUT

17) CWSN specially ment for child with special need connecting them with

main stream:/CWSN faRIv saxgsdr arat a=i &1 YBT ¢RT A s & e ugd -
1. True /9

2. Wrong/3dd

3. Partially true/3fifib I

4. Partially wrong / 3fifR1% 3T

Correct Answer :-

o True /A
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18) Who is the Founder of Creative Test?/Wﬁ&M%ﬁﬂﬁTﬁ?%‘?
1. Gilford/fe®TS

2. Freud/WTds

3. Skinner/ PR

4. Pavlov / UICIG]

Correct Answer :-

. Gilford/ii PIS

19) Meaning of prenatal is:/ WHcd &1 34 §:
1. Period of before Birth /Glﬁqtljw

2. Period of After Birth / S dlq THY

3. Conception /mrfsrr:r

4. Period of embryo/fUUS 3fqwyr

Correct Answer :-

« Period of before Birth /571 Jd ¥Hg

20) Integrated child development services started from: / HHfdd aTd fawrg Jar
IS Fe URY 6 7S:

1. 1975
2. 1985
3. 1987

4. 1999

Correct Answer :-

21) Continous Process is:/ fARdR 9o areil ufspar g:
1. Growth /f{@
2. Development/ f[d&1g

3. Growth & Development/dfg Td fa®bra
4. None of above/ IWIad & ¥ Ps Ta!
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Correct Answer :-

« Development/ fa®rg

22) AIDS causes through:/ TSH badl &:
1. Through Virus/fasmo &

2. Cough & Cold/ ﬂﬁw

3. Through mosquito/ T

4. All of the above / SWRIad g

Correct Answer :-

« Through Virus/fa'Gle{[?[

23) Which is not law of learning:/ 8 9 919 deq &1 g 98 @
1. Law of readiness/mﬁﬁ'ﬂﬁ

2. Law of exercise /319 &1 (qH

3. Law of effect /Uﬂ-ﬁaﬁﬁm

4. Law of medal/AUSd &1 fAaH

Correct Answer :-

« Law of medal/Ausd &1 fAaH

24) Purpose of Instruction is: /3 & 3T &:
1. Development of Ability/ Tradraff &1 fasrg

2. Help in personality Development / o f[dHm™ H Terd]
3. Help in decision making / fuial # Ggras
4. All of the above/ SRiad g+t

Correct Answer :-

« All of the above/ SRiad g+t

25) Exceptional children Quality is different from Normal child: /fafy TTaH &
T[0T T gTad! I U 8d &

1. Quantitatively / HHATH®

2. Qualitatively / TUTH®
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3. Quantitatively & Qualitatively / AHETHS 37R 0TS

4. None of the above/ IWRiad # J BIs gl

Correct Answer :-

« Quantitatively & Qualitatively / HATHSD Sﬁ?ﬂ,ulld-lw

26) Integrated child protection scheme is related to?/EﬂﬂWWW&MﬁW
fraa Twafa 32

1. Protection of child Rights/ A BRI BT e
2. Child development / STdl fdepTd

3. Child protection/ §Tc TR&UI

4. Child care/ ST GEHTA

Correct Answer :-

« Child protection/ dTcT TR&IUT

27) National Handicap Organization is situated at: / T84 fy@eriTT R Fgl R
:

1. New Delhi/7s faech
2. Mumbai / 488

3. Deharadun / 362@3
4. Calcutta/ Hidddl

Correct Answer :-

« New Delhi/:l'scﬁﬁﬁ

28) Memory mental Ability is related to:/ Tfd, 3 Tgar-awfiie 2:
1. Mental development / AFRI® f[d&™
2. Creative development / oIS [dhTY

3. Cognitive / IS fawT

4. None of the above / B@Wﬁ@aﬂ%:@'

Correct Answer :-

« Mental development / AFRI® fa®mr


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Which factor is not influencing human development: / o vra faera &1 uvifaa
B qTAT PR 8 o:

1. Heridity & Environment /d=IIshH U4 ATl
2. Nutrition/ GIST
3. Family/ IRaR

4. Infancy / ddU4

Correct Answer :-

« Infancy / ddU4d

30) Education of children with unable learning is: /3fRFT & STA®H! Bt FA&T 7G:
1. Ability Training/ g ufeor

2. Skill training/ DI UfReror

3. Ability training & Skill training/ JgdT W& TUT DI UFRTeror

4. None of these/ 318 I 15 gl

Correct Answer :-

« Ability training & Skill training/ TRIdT UfRI&[0T TUT IS TIRTefor
31) XY Chromosomes are called/ XY Wmﬁ%

1. Sex chromosome/fciT TURE

2. Combination chromosome/ gf%w

3. Rhesus factor/ 99 thaex

4. Uniqgue chromosomes/ WW

Correct Answer :-
. Sex chromosome/feRT TUREA

32) Which of the following is first develop teeth? /<9 & & S 1 ¢id UYH IR
o grar 82

1. Milk Teeth/g¥ & &id
2. Permanent teeth/¥Ts &id

3. Occlusion /&~ 3{dYRUT
4. Above all /SRIad g+

Correct Answer :-
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. Milk Teeth/g¥ & aid

33) According to Torense characteristic of creative person is:/awa?alﬁ'ﬂﬂ
TS Afaaal Bt fara-t faRivang gidt 2:

1. 84 characteristic/ 84 fa=yang
2. 96 characteristic / 96 fa=yamQ
3. 02 characteristic/ 02 fa=yarg
4. 42 characteristic/ 42 faRI¥dMQ

Correct Answer :-

« 84 characteristic/ 84 faRyarg

34) Special Education is related to:/ ﬁaﬁﬁﬁqﬁﬁwﬁwﬂﬁvﬁlﬁa%}
1. Special teacher/ fafRm fRiem fag

2. Special Reading material/ fafR1y urey It

3. Special activity/ fafRmy forar fafdr

4. All of the above/ SURIad I+

Correct Answer :-

« All of the above/ SWRiad gt

35) Among these which is/are aims of special Education?/f= # @ &9 faviy

e &1 3ETT B3R

1. Help in adjustment/ TS # Tl

2. Maximum development of ability/?ithﬂTW 3ffmar faer
3. Economic Independence / 3Mfd& Tadzrar

4. All of the above / IR gt

Correct Answer :-

« All of the above / IRIad gt

36) First step in child language development is:/ STa® HTUT fAHTH & Sfavla Gad
g e 3:

1. Pronoun/ R
2. Noun/ 9311
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3. Tense/ &Id
4. Verb/ fepan

Correct Answer :-

« Noun/ 3T

37) What is the programme at national level for Special children & women

care:/ fafkree sTerel gd afgersit 1 d@uTe og IR WR o1 S HH R 3:
1. D.M.C.A.R/ SL.THH TR

2. D.C.R.A.W/ S 3R TS

3. D.W.C.R.A/ 3.8 Hl.3IR.T

4. D.R.A.C.W/ S1.3R.TI.Ss

Correct Answer :-

« D.W.C.R.A/ S!S H1.3MR.T

38) Full form of AIDS is:/ QWWQRT:ITHW%

1. Acquired Immune Deficiency Syndrome / W@%ﬂﬁé iR QR“ ﬁl@'ﬂl
2. Acquired Immune syndrome / T&Tds 311 RigH

3. Acquired syndrome/ T8 RIgH
4. None of above/ SIRIFd ®Is gl

Correct Answer :-

« Acquired Immune Deficiency Syndrome / T&Tds S SthiRII- RigH

39) Who does sex determination?/ &1 foim faeivor s3ar 22
1. X Chromosome/ X S

2. Y Chromosome/ Y B

3. XY Chromosomes/ XY HIHEH

4. XX Chromosomes/ XX SHIAGH

Correct Answer :-

e« XY Chromosomes/ XY HIEH

40) Crying is related to: /391 Hdfd &
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1. Language/HTul
2. Social/gmHTSIH
3. Emotion/IaidH®

4. Motor/TTdTHD

Correct Answer :-

« Language/HIVI

41) Persona related to: /TR Jafid &:
1. Emotion/‘v'ia'f[

2. Personality/aafada

3. Language/HTNl

4. Physical/ IRIN®

Correct Answer :-

« Personality/aafad@

42) When National AIDS Day celebrated?/ fd%y vsH faaq &a 9=mam wrar 32
1. 1st November/ 1st Jd&R

2. 1st December/1st faqm@R

3. 1st June/ 1st 91

4. 1st July/1st S8

Correct Answer :-
o 1st December/1st foaweR

43) Important factor in social development is: /TN fAHTT BT U@ 9 ©:
1. Heredity/ d=IIIshH

2. Gender/ feiT

3. Environment/ dIdraxuol

4. Heredity & Environment/ 3R 3R Irdravol

Correct Answer :-

o Environment/ ardardul
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44) Foundation of National Institute of public cooperation & child development

is:/ IS O AN U 9T FIpT_y TRITH 1 RATGAT H9 $t T3 A
1. 1966
2.1978
3. 1980
4.1967

Correct Answer :-

« 1966

45) Types of inability learning are:/3{fRTH 3f&waT P UPR T
1. Problem related maths / TIOrd Haeht gH=n

2. Writing Problem / feReH &1 s1grdar

3. Reading Problem / Ue- &1 GH&

4. All of the above / IRIad gaft

Correct Answer :-

« All of the above / IRIad gaft
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